Paper Code «U&% 1 ~1y) S
Number: 3461 SSC PART-II (10" Class) ,
BIOLOGY PAPER-I GROUP-I f\// 77‘/,. /-~ ,L(/ igorg J Y HEE
TIME ALLOWED: 15 Minutes 2> 15 = =
MAXIMUM MARKS: 12 OBJECTIVE(,?J/".J’ 12 = ﬁ;J
whic Ll o3 Lo cfil /A o 35 Qb L Rnrss clunde s Ly 13802 B 2D MCB AN N LIy z 1 /d, -
You have four choices for each objective type question as A, B, C  £ssdsbizofif e §i S/ ebi /150t
and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q-NO-1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. :
D c B A QUESTIONS /=i Sr.No.
Vocal cords Trachea Glottis Tongue The organ which produces 1
s Y o o sound is called:
s i ST
Lady finger ‘ Rubber plant Keeker Coniferous plant | The plant which produces 2
Ly Ltk ' L S latex is:
et S Latex) U Loy
Axons Nerves Neuron Nephron The unit of nervous system is: 3
nki i oot o P " gV |
|
Elastic cartilage | Fibrous cartilage | Compact bone Spongy bone | Epiglottis is an example of: 4 <‘
S _Cy S 46 el oy e e GEA S |
The plant in which vegetative 5
propagati kes place
Colocacia Yams Mint Bryophyllum | through is:
W 58 . oy P RSB s 5y Mmis g
. @ % tnd il
(\ /
Fruit Pollen sac Ovary igma The structure in which ovules 6
o wlaeld oot are found is called:
(\@ QW U et a2l
Q)
In Mendel’s dihybrid cross 7
phenotype of all seeds in F1
Wrinkled green Round yellow Round green generation was:
A &JS { ! Lef a1 fn ALk
V S AU
The genotype of blood group 8
it ; ; ; ! ; ? AB is:
: e B t5E SAB s/ 2
Biochemical Sun Animals Plants - The basic source of energy 9
reactions B S ey for all ecosystems is:
Ak A e AAGEEHL L Hi
Microorganisms used for the 10
Aspergillus Volvox Saccharomyces Bacillus production of formic acid are:
u'l:,ﬂ J(JJ” x‘éh; u"(j’d., JWI(’}C‘Q;L&&'— Lo bia Lk
e
Recycling of one tonne of i1
paper can save trees:
s s
Analgesics Sedatives Antiseptics Antibiotics The drugs used to reduce pain 12
b i ST S Nad f&i?”’ are called:
- 3u &QJ)IJIJL/ fw
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BIOLOGY  PAPER-Il GROUP-| ~ TN~/ ~2Y bpogs/ 1o - .g/ Sy
TIME ALLOWED: 1.45 Hours &£ 1.45= &3 SUBJECTIVE i MAXIMUM MARKS: 48 48 = /4
NOTE: Write same question number and Its part number on answer book, as given In the question paper. PR IIn Y 4 LAl Jhdn -od :

SECTION- il

e linibie 3 240

2. Attempt any five parts. 10=2x5
) Write down two functions of nasal cavity. il 7 fdb”vﬁd LJ7 (@)
()  |If a person stops smoking, what does happen to his lungs? | S tni/FL Lyl PN sy f SO
(i)  |What do you know about chronic bronchitis? S TPTL Lt | (i)
(iv) |How efferent arteriols is formed? ?%&djdgf’ﬂ\u«. AL (iv)
(v)  |What are two major causes of kidney failure? tUte Q:’.:Lf‘/.»lfi—lgﬂléﬁédf V)
(vi) | Write down two main functions of spinal cord. -J/}/{’W'»Z—bﬁf /E,/ (vi)|
(vii) | Describe two important functions of oxytocin. ,u'ful/db?l(' Jul.u‘;é.'{ Tl (vii)
(vii) | During seizure attack, why any object should never °.;;,_l:(,5‘( I g bl P /ulméz.,J»Z_J/ (viii)
be placed in epileptic patient's mouth?
3. Attempt any five parts. 10=2x5 L fenp linbie & 30w
0] Write names of extensor and flexor muscles in upper arm. ..d/ f(LKJ/ CpaSals sl bl RS ! (i)
(i)  |f tendon of a muscie is cut, how will it affect the movement ?f.un:/!/’g{-“fiu( Shizloal Uy S G
of bone?
(iy {How new plants are formed from calluses? ?ugz_wjjg.@ﬁ_;gz;c; ;/LL_/ (iii)
(iv) |Compare epigeal and hypogeal germination. -uj/.:)l/(( Ghipegd Jus £ o @] (V)
(v)  |How albinism is produced in a person? i}ﬁ\@/f poidl U2 u"' &fr (V)
(vi) |What is theory of special creation? A /u Sty /”V(fl;cf | (i)
(vii) |Differentiate between breeds and varieties. o/\{/:{%\ _q/f//‘u/u.‘.' sukdlyy ot Sk | (viD)
(viii) |What is the difference between dominant and recessive allele? ¢ 'fq e AU Kty st wany | (viii)
4. Attempt any five parts. 1 9;%2?@ .&/&ym&wig:.éf 4
(i) Differentiate the intraspecific and interspecific intq@%@f} -w.“{})uf e I Gy 2l sl bl g1 )
(i)  |Define pollution and pollutant, (ﬁ\ o\< —L/;fu-i//;"&%ﬁﬂﬁﬁ‘tﬁ)"‘/ (ii)
(i) | Whyis it important to study the diﬁerga&&n%onents of ?‘Ldﬂ/}L}J{A‘JWIﬁ’Z’JQLrw&y)’L (iii)
an ecosystem? /\M
(iv) |How can we mitigate the effects.of human activities on é)?;{}(—«f/'/ U//;fd'r"/)/’ Ly A (V)
biogeochemical cycles? St
(v} |What is meant by single cell protein? ?‘a;l/g‘:,ufgdff’ (v)
(vi) |What is meant by Plasmid? teslpYedity| (i)
(vij) | Differentiate the bactericidal and bacteriostatic antibiotics. . ..uf’{")/ui‘fg:’ Wy 26 GRS | (i)
(viii) | Write two bad effects of marijuana. ,e_‘-z;:";‘“ i _gf‘@,i}u., indltig | (viii)
SECTIONAI 1.0
NOTE: Attempt any two questions. 18=9x2 _é'/’aplzﬁaﬂlnméf -
5.(A) |How the kidney stones are formed? LL 6L s FLAS DAk | (5
Write the methods of its removal. 4 «é{..//; &/
(B) |Define skeleton and describe the role of tendons and U:J.L.wa’(f‘" ﬁ’bsl'/'}:.ésfé’:’..y/‘?d’ oulilul ()
ligaments in skeleton system. 5 -g,{ug.m/ut pas

6.(A) |Describe the name and functoon of different lobes of cerebrum.
(B) |Explain five different methods of natural vegetative propagation

4 o Seolnlp bt L L fad e | (A6
SUR L L gy stitanysdid | ()

with examples. 5 S eolond LU
7.(A) | Define biotechnology. Describe its role in the field of food and [.AVJ):’ sl S08 4,’5.4;1/7(!&)&?:.‘9 (IN-7
agriculture. 4 RS K

(B) |Define medicinal drugs. Also describe their sources.

5 LTl g Pl | ()
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Number: 3464 (estz) N- .wgus"rdfwﬁ? | A
BIOLOGY PAPERl  GROUP-I  AJTA/~2 —)Y :,»...,,f m gy GBI
TIME ALLOWED: 15 Minutes w15 =
MAXIMUM MARKS: 12 OBJECTIVE %" 12 = Af
A A eh | Bl s ft U Ll ( Q67 ULl D W C B A etz Ldis | 4 /.U,,,

You have four choices for each objective type question as A, B, -Guﬂw.,:zu[z‘;.-.mf'g)z g L/w:}lm_u‘;.

C and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use Q.No.1.
marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D c B A Questions / =y SrNo.
Suckers Tissue culture Grafting Cutting This method of propagation is also called 1
/'fc /»KP‘ ﬁ’f & micropropagation:
& Sl AN piulingn
Ovaries Follicie Birth canal Horns Where does male rabbit transfer his sperms| 2
Lzl W0 el ST in female rabbit?
.':‘_tgh-’uL{u:JﬁuLf/'/?zr_ljff'j
mRNA Lysosomes Ribosomes Nucleosomes | DNA wraps around histone protein and 3
MU el . Vo2 ] vk form rounded structures called as:
e b trtds /L syt DNA
Artificial Natural Evojution Variations | Intentional breeding between individuals 4
selection selection ;;;379) ;:J/_.;j for certain traits or combinations of trait is
Safr ?llgazj ¥ .- ‘ called as: ;r'jfdimﬂfggﬁk;?
: -k l”l/.{ul’:JfJg}:uuU'g)b‘J
Host Parasite Predator Prey \Q}Eﬁism that actively hunts other 5
e il kg ey OQ%} msis called:  Usliloe mklbfl
A/l @j > ..c".t'lk'( ‘ i:_l?xC@c.dﬂVd‘/.)/
Energy flow Food web Trophic level @\Jﬁ%in A network of all the feeding relationship 6
LSS e s3? J b/ ? 0»::5:" in an ecosystem is called _____.
({\ <& -q.tﬂr(_ Jfgb/oiihj(u"ﬁ..ﬁzfuf(t/ffug
Risen by 3.4 % No effect Ri " 4 % Declined in developing countries smoking rate has: i
cvfS 3a% | mutands AL 4% | e dnf RIS LN,
U { i
Sodium ions Water Urea Glucose Which thing is not typically found in urine? | 8
ity d Ly A Qo dLit b el T
Which nervous disorder in muscles does 9
Goiter Paralysis Tetany Epilepsy occur as a result of damage to the central
s & & S, nervous system? ;:Jc?uu“’/f’/ P
te bbbl AU
Which hormone is produced less when 10
Thyroxin tnsulin Esterogen Androgen | reproductive cycle is stopped in human
cfr'l@b? C):!)J‘ S fH S k) females? vamwjufﬁ FA
te_Ulurilud et
Interfercns Vaccine Thymosin Urokinase is used to dissolve blood clots. 11
SR p o sl prrL Loy e b L3 AL p
Silver nitrate Sodium Sulphur oxide Ammonium | The powder of is applied on wounds | 12
S }"L’»" phosphate x. 7/1’ nitrate to stop bleeding and prevent infections.
3Gy st | el b telli Uit P

B AAAY sl aslsiaz

28(Obj) (T 3¥)-2024(15t-A)-45000 (MULTAN)




BIOLOGY  PAPER-l GROUP-II M77\/'_ 2 7/‘1 l

yrgr) Yo g B

TIME ALLOWED: 1.45 Hours & 1.45= .3, SUBJECTIVE Z&  [MAXIMUMMARKS: 48 48 = /A8

NOTE: Write same question number and its part number on answer book, as glven In the question paper.

-Gk gy ISR s n i AN s VY2 -2

SECTION- (sl

2. Attempt any five parts. 10=2x5 & ferlinbie b 20w
() |Whatis nicotine? YA 0
(i)  |How smoking does affect another person? ‘-’{_J/J“U'L,,(fzf? b | i)
(i) | Write down symptoms of lungs cancer. -ufdeLwJ/l(.C Uit | (i)
(iv) |How dew is different from guttation? S e il | (W)
(v)  |Define excretion. <kt /qﬁ(f\ﬁ'/('gl (v)
(vi) |What s difference between receptors and effectors? S JAUUE 5 A0 sl )y | (VD)
(vii) | What are saltatory impulses? st A | (i)
(viii) | Define Ganglion. ,L{/-...,y/Uun (viii)
3. Attempt any five parts. 10=2x5 -&/’a&lﬁﬁlflégc_af ..3/:"4.}11’

(i)

Differentiate the endoskeleton and exoskeleton.

L AILOAE el gl taliColind | )

(i)

What is Gout?

ol R0

(iii) What is the difference between spores and cyst? Y‘gd)gu;‘ G sl Sn (iii)
(iv) | Write two characteristics of wind poliinated flowers. o iU vl iy tin | (v)
(v) |Define trait. Give its two examples. @@\ﬁ}:’l@%ﬂu Jofecs | W
(vi) Differentiate the gene and allele. " 4\“ Q\\y AT F it (vi)
(vi)) - |What is meant by complete dominance? /? &\&\ ‘-’{—J’/U’f-ué"w’h); (vil)
(viiiy | Write two characteristics of discontinuous variation. (I\@ _u:."dalgr‘%ufuz&i/? /;* (viii)
4. Attempt any five parts. d%\ggx 5 .@f.a,tmémégc_éf A/.Uir‘
(i) Why consumers are called heterotrophs? /xge v i S iU U’;’;Jﬁ-)/;")/ 0]
(ii) How do the carnivores plants fulfill tk\r AN gen requirements? Yu;Lfb.gprgjﬁfJ;ﬁ,}’tu:L;,;’Jn.a(};b’ (i)
(i)  |Write down two harmful eﬁect{@sﬁgg, i g S e big\Sind S | (i)
(iv) |What is dengue fever? mg two symptoms. ,:: ~4a~:a‘-ﬂn.’dld‘ Sl Ug“f (iv)
(v) Define fermentation also write the name of its two b;sic types. . _5’5{ f}"t:ﬁ;ru‘ld;y&»JJlAlg{._y/U u’!’} (v)
(vi)  |When and how human insulin was prepared? ?(3'25//?4//:!.,” ugr’"aul (vi)
(vil) | Define pharmacology and distinguish it from.pharmacy. S G i FEE M6 | (vii)
(viii) | Write down two names of narcotics obtained from opium(Poppy). | -g‘,:{/;rtéu%t::dlsi.nd’ by | (vii)

SECTION-II (134

NOTE: Attempt any two questions.

18=9x2

-g{{]’:« U:Zﬁ-caﬂlnx_(jf s

5.(A) |Why is dialysis needed? Write its methods. 4 _E AL e QyudenAS A | (N5
(B) |Write a note on arthritis. Also give its types. 5 -é_/]’}tﬁld&l/‘i -46.:,:7{(;5‘7/@7 Cd
6.(A) |Define feed back mechanism and describe negative feed | L7 (£I<,€ nlu’ljrjful“é._é{ /“Jm;-..gz: (-6
back mechanism with reference to insulin and glucagon. 1+3=4 ~§:’.’ul~4(:"$_».,g,’éﬁg &
(B) |Define vegetative propagation and explain two common Sidaa 554l _é...y/U Ol stitaany | ()
methods of artificial vegetative propagation 1+2+2=5 _gﬁ/wu:{fuﬁ{ )’rlw[. U&QS’_‘_T. 92
7.(A) | Describe the role of biotechnology in the field of medicine. | 4 -L,p@y.m/ BEIRA LA et | (LID.T
(B) |What are antibiotics? Describe their major groups in detail. | 5 -q/ag.c_ J:."T &:/r“l&u! ?ujg'.rg:’@(}’." (o)

28-2024(1st-A)-45000 (MULTAN)




PAPER CODE 2023 (1st-A) oy
88C PART-ll (10th CLASS)

NUMBER; 3467

I0LOG : TAL e — 1 3

BIOLOGY  GROUP- NN = 1~ 23 ;. by v st G

TIME ALLOWED: 15 Minutes .OBJECTME gff"dj.a? e 16 = &b
A _ & g = e

MAXIMUM MARKS: 12 | = 12% /‘J"’

Hemih | Lt!?;ngw&w.’...,m.amf:.m u;;uﬁ%az.v&._}u;,-gqr@x HELLsD s CBA &&lﬁ;ﬁyidfrx o
Y v -f@?&:ﬂﬁ&fd@zﬁf ] /:"4 :6:.7': -b’w}‘aWyP?a}ffﬁLﬂ@qurL/q}:bU' ) L u.qﬁbs:pc.mfl 2
Note: You have four chuices for gac objective type question as A, B, ¢ and D. The chojce -u’"[-'d’}_',‘::.:fmr

which you think is correct; fill that bybbie In front of that guestion number, on busble sheet. Use marker or pen
zero mark In that question. No credit will be

to fill the bubbles. Cutting ér filling tywo or more bubbles wiil result In
awarded In case BURBLES arg not fi;l‘ed. Do not solve quéstions on thig shest of 65.15‘:1‘!\1& PAPER.
. |

G.No.1 : :

(1 Sewags water is purifigd by the use of:

A Ay
L Ll Ll S i D)

(C) Bacterial enzymes ,'-"J',":i.,;,;é (D) Minerais 7

(A) Microbes v (B) Hormones J¥uy
et el 4 @

(2) Tincture of iodine is obfalned frorrlh:

(A) Fungus & »&i5  (B)Plants ey

(3) During exercise the breathing [ate may increase uP.io:

(C) Animals -l (D) Minerals &~
21 e (e. : 9“- “ul{?‘h‘dﬂi\-{«aﬁ&‘il‘};bﬁ)/’ ‘3)
2 <~ g

B 20 - @per minute wdqzs 30 220

] @%@ times per minute .wd,,:,f 40 =16

(A) 30 - 40 times pe"r minute -uu-df-/ 40 936_

(®)) 16 - 20 times pér minute  w#Ua2” 20 16

j ' P i P f' @ v D
(4) Which one of the following is not an-organ of homeostags fe o ,Tu’u"-"k‘nvwa v?,,,,!_,m«» (4)
, A ]
(A) Lungs & PR (B) Skin # %@-Haam& (D) I#Idney w !
¢ . Aty - 7/
(5) In chemical coordination, the gogrdinate @\ : gttt EEWY .;’-‘-J.-,u'_}?f ()

S Jﬂfd%)}jffif (C) Spinal cord i e D) Exocrine glands ,:J'u'».’.;FI/.rff [

> 3 , Fy .
h [polten grains are transferred t0: wi i ..».-Jb'ujfdw:f-.;_v ALY (E?)

tB) iﬁtyle .VJ'L« () Ovuié {qu‘ (D) Stigma -~

Sutivaiia o o# .. ;
"" ‘:;,-,;-‘* -q-b{:‘d st ,J'!,u (7)

(A) Brain ¢f4  (B) Endocin

(8) Poliination Is 2 processd
(A) Ovary .;u‘usl ‘

(7) Actually, an immature plént is: 5 ,
(B) Endosperm (,4’:45!;-::2{(05 Ovule Jg |
.

C) .w.{ 35 %

(A) Embrye 2.« (D) Radical L4
..4.(3MJL£’J-‘3 J 3 J:dr (8)

(D) 44 90 %

-'r”f;-w‘l}e"d’-#"'d (s;j)

(8) The percentage of sperms ih semen is:
(A) 4 18% (B) 4 10%
" (9) The unit of inneritance |s called:
S (B1DNA &[]
L an' individual Is called’
: (C) Heterbzygous J;%“r}..,:ﬁ _5([2{) Genotype .,:-'fiﬁ‘f ks
e b e ()

(D) RNA 6-'.;54"
..r,.mfw:"/u’#";»a*-,:,)f (10)

'(A) Chromosome: /7 (€) Gene
(10). The specific cormbination of genes |
(A) Homozygous J:f’um (B) 'Phanotyp? .,ft*jr:"
(11) cenversion of nltroggp gas l:'tto nitratas Is calléd: | )
et T A (8) Assmilation Ve
(D) Arnrﬁoniﬂcatlon o 3 ;"
T.J;“Ll-f-e'-a‘-'—a‘-— ot b g,

(A) Nitrogen fixation

(C) Denitrification Sk SHES j
(12) To fulfil their nitrogén reqyirements ¢a

(A) Pungus & (B) Insects =

a8 (12)

v

"nivorous plants eat
(D) Bacteria | <

(C) Warms j#
o et 10023(181-A)-50000 (MLILTAN)



2023 (1st-A) ey
SSC PART-Il (10th CLASS)

BIOLOGY :. GROUP-| N TA] 123 | by - .,,,/ p’.;’.fL
TIME ALLOWE’D 1.45 Hours SUBJECTIVE ZWLw 145 =
MAXIMUM MARKS: 48 | a8 = A

NOTE: Write same quastion nimber g g g SR B znlf g d6din -
and Itz part humber on answer book, as given In the question paper.

SECTION: (Lo

2. Attempt any five parts. 10=2x6 «é}f’-‘ﬁk’ﬁﬁm@ka—éf -u’drr
(i) What is reant by gageous excnénge? ¢ f,'-:'/k(b.bl".'.'. Uf J 0

oL ()
g fes e S4(iy
S /g., (V)

(v)  Define Excration. | SRS W
tenide s ®” (V)

(vi)  What s meant by Stimulus?
(yil) Briefly describe structure and funiction of sensory neuroné L wf/:?ﬁ_,, ISR CORT KR
e g SOk (i

(ily  Describe functions of inspiration.
(i)  Write symptoms of Emphysema,.
(iv) What is meant by Osmorégulatlon?

(Viily What Is hy'perthyroidism?' Write its symptoms:

. !
3. Attempt any five parts, | 1M0=2x85 @&Vﬁfﬂ&ga«(jf -3/ Jir
()  Differentiate between biceps ar?d triceps muscles. @K/ - )ukvmﬁ}” VT, JLm o o
(y  What are Tendons? " (\QQ\O sledly ()
% fensl 2l ams Coly (1)

()}  What Is meant By Fragmentation?
(iv)  Differentiete between external fertiljzation and

internal fertmzatldn ; f
v) What Is meant by co-domlnanzfe? ’ <;) ?+-J'/kfauu w3 (v)
LLpiad ol )

(vi)  Write the genotype of plood g& i

(viy State Law of Segregation: ‘ #’ e .,r"*/a.u‘f,u (vil

(il Differentiate between homozygous and heterozygous genotype. - J,’uyzsw.ztr’u’?w fan Lo (vl

4. Attempt any five parts. 10=2x T -gf,(;’.,wayréw,ﬂ A

m Write ti‘se role of decomposers In an ecosystem. -u‘o' bfu“(" f A l.,.ub ur‘:f 3 (i)

()  .Differentiate batwéen feod chain and food web. g{d}uw&w, gy ()
' sk )

"

@ O Penl P;-:/dmwud/w}.,fx'f/dw (iv)

(y  Define Commen§alismf ' | |
(v) Whatdoyou mean by afforestation? | ?q...vl/'wvfa:» t‘&--’!{f)#— {v)
()  Deflne Single-Cell Protein. - o f’{'jf'j‘“{ﬁ: oW
(viy Dgfine genetic engineering. -é-%‘/uw g ( ,D
(vii) Deﬂne gynthatic drugs and erte its one example. J"UVJ Jdb:léwe/walJf g (vil)

.;e“uuw»,_.ﬂ 6 (i

(vill)  Write two uses of narcotics.

SECTION-II prsee

NOTE: Attemptany two questions. 18=9x2 é{/’&;lyéwﬁirxm.éf
5.(A) Wrlte a note on homeostasis in humans. 4 ﬁ{a’/‘i/ s S L" -5
(8) Describe functions and Internal structure of bone. Ls o fugwpé,,,u,,._)w_df (._,)'
6.(A) Write a dote on spinal cord. ? ‘ & ‘{.w mJ" L f.,.ah__e
(B) erte structure of & flower. Alsp draw labelled diagram. ’5 i 5 ﬁ}qf‘} -4”-&-’ wa:‘f i(e)
4 bl Lt S (IT

7.(A} erta, four basic steps In gsnetic englnaering.

“hima-

pludy i ik (e

(& ]



PAPER CODE 2023 (18t4A) ? s
NUMBER: 3466 $SC PART-l (10th CLASS)

NN

BIOLOGY ~ GROUPI s - ,_,-:f Gy
TIME ALLOWED: 15 Minutes OBJECTIVE (1% =
MAXIMUM MARKS: 12 . | 2= AF

Ao | S s el R s s S u:xﬂﬁé.:ﬁ.la Jiragd¥diz JELLr D s CiB A .-.«w..wg_...)rkf oy
{4Vl Jz...le,l‘:ﬂ/(j/u-‘-'a«ar‘(ﬂm 54 :C}s/‘: afﬂfrﬁ%l?uuu’-quJ et 4, o Sy ! A.f,qfu:/m:},./.:..... .
Note: You have four cholces for each objeative {ypa guestion as A, B, Cland D. The cholce ..qj[.' e U
which you think Is correct, flil that bubble in front of that question numbegr, on buhblo sheet. Use marker or pen
to fill the bubbles. Cutting or ﬂlllng two or more bubbles wili result in ze 6 mark in that quastlbn. No credit will bé
awarded Ih case BUBBLES ars not filled. Do not solve questions on this shest of vDBJEéTWE PAPER. '

Q.No.1 | A Ay
(1) Development of new offspring from unfertilized egg is called: -4 i r’J ! '»z_au“‘w},&'.w:je..ﬁ (1)

(A) Parthenogenesls: ~.-,r"‘-;'>’ W (B) Buddlng g (C; Fragmentation .., D) Binary fission ¢ ,; 8L
Q’éf SRRyl @

(2) The latest method of uétng vegetative -.—.-..g,*z,.,.lg( fJ"bb:g'f i\/
tissue or cell of single parent to préduce identical offspring Is.
(A) Guttings -,,A.f 3 (B) Gx‘aftlng Ses %ﬁﬁ% g D) Cloning «'#
) Unit of inheritanse is:

(A) Chromosome *rr‘- . (B) Nucleu (C) Gene tﬁ (D) DNA aolai !
(4) The expression of human—blaod grwp AB mp‘e of; Slael rff W1y AB — ke 4)

(B) Complete domina )ca S

Ll ‘ (3)

(C) Incomplets dominanoé, y=! (D) Recessive trait .:».?’tr.fib"
(5) The ablotid cpmponent of ‘ -.;...;/w bae t7HEL (B)
(A) Producers 71 (B; Consumers J_/,y,;-"’ ;Decomposers w04 ‘.,u (D) Light .

(6) The numbers of trophic levels in a food chian arg usually. «-'-'-L: % u”"h‘p’Jfﬁd’ 2o 5"49 (6)

(A) 2-3 (B) 3-4 &) 4-5 ... ., (D) E- -6
(7) A pain kier produced by the braln is: -a..ﬁffff».:!.*si;.,fﬁb (7)

(A) Beta endorphin 4/’1:1’;!&& (B) Thymosin 4 i) Urok}nase;‘r:‘."a‘u; (D) Enterfarons da g 4
' gl ey s ®

(8) The cardiotonic used i stimlplaté the heart is: b
(A) Morphine %t (B) Diazépam ¢juk's  (C) ParacstamolJJx.zis (D) Digitalls . .8

(8) Thk amount of carﬁon.dloxlde In expired air is: il LR 1S40 Rﬁ'w"-v‘b’uf:?fJ’Ji-ﬂblﬁ/:&c"l" f-;-"ieu"" v )
(A) 0.04% | (B) 1% (C) 2% ‘D) 4%

(10) The maintenance of the Internél .c_rw «Lﬁ(’u g mq‘..,uww' uz:yéé_TugE,g‘,,-':;,.r*'.Js,g: (10)

conditions of the body at squilibrium. desplte changes In the external environment 1 called:
f"‘-‘} ' (B) Osmoregulation ‘ﬂf ¥y (C) Thermoregulation, -:ur‘; (D) Metaboiism r)/!:«- ‘
" q

(A) Homeostasis |
SO T R ,ﬂw.,fuwuwu;, A3l (Jsgonlns W20 (1)

(11) Any change in 2nvironment
(Interhal and extarnal). which can provoke a respunse in organism Is called:

(A) Response 'V'J‘_;{J (B) Effsct i () Stimulus J{ﬂ&’ (tD) Coordination ;,'"‘*"UM’(
(12) The example of immovable(fixed) joints is: ' P (e sl sa (12)

(A) Joings between skull bofies \,.""'!',«':,dgmf.up}xfd ;;:" iB) Joints between fn~ vertebrae iz, R )
(C) Shoulder joint L5k & Dy Hip joint &2 ¢l |
oron T T )-20250781-A)-80000  (MULTAN)



2023 (1st-A) | Vv
S8SC PART-ll {(10th CLASS) j '

BIOLOGY  GROUPHI A Tl 23 e G
TIME ALLOWED: 1.45 Hours SUBJECTIVE _SlLe a:: '1 45 | ’:
MAXIMUM MARKS: 48 | T -3 :;:
B : - 48 = A
OTE: Write same question number ..q..(wu.’:;..{_glrﬂ f Gzl d¥die f:.bu’

and its part number on answor book, as given In the question paper.

SECTION:l b | |
g e\ L3 2 )

2. Attempt any five parts. ‘ " 10=2x5
0} What Is the difference between stomata and lenticsls? 1+1 e I K, # . gt
(i) Write two njajor syn’rﬁtc_ms of Asthma. 1+ 1 ’ r é_,’ g ;. :,, J . :‘ ;:)
(i)  Write two bfad effects gf smoking. | 141 _‘ el ;,: ,:”I ;;‘,:; ((Iﬁ)
(v} Whatls dialysis? N atho o A Yo !
y ame lts two methods. 14 %+ % et LUy T A (W)
(vy  Name two major organs which work for 1+1 i ;#t[__ )’_‘/Tg,_g;;d_.ué,./'rb’é,ﬁfﬂ-:;q;ﬂ _.,;. W)
homeostasis in human. .
) What are effactors? Give an example. 11 el Sz R wh
i) - Défine nerve impulse. 2 .gf':...y,r;‘,‘f ,fwu' (vii)
(vill) ~Which do hormonas regulate the level of calcium jons in bloed? 141 iugz.f..bﬁ’i'ﬂm’.ﬁy*"f,(fyy‘wya_ i ag$ (vill)
3. Attempt any five parts. 10=2x5 i Fe i limbe b <3 A
(i) Write down functn‘ons of human skeieton. e -40._}&5:&.;*"‘ o M
@iy What ls meant by chond;;ocy:es? @(%\ i';_,:/g_,_, a1 (il
(iiy  Define partﬁenoganesls. ' : O d -.;!q.g'ﬂd a"f'*’"'?oﬁg (it
(ly) Write structure of Bryophylium. ‘ _ o %ﬁ\ & -4‘50-"-'# vddidle (V)
()  Whrite colours of flowers of Four-O-Clock Plant. - % 7 -4,.50 JJW#L-'-){ TR )
()  Write down souross of variations. P (\@ .405"'5.5.{:;.»%7 (vi)
(viiy What |s meant by thsory of speglal creation? @ ?4—Ji/kfc,.-,)’;.'—'.,i'5:"":’ﬁ (vii)
S sl ity g (il

(vil) What Is meant by Artificlal selegtion?
4. Attempt any five parts.
(i Deflne blosphere and wrlte*

(i) How does energy flow -
iy Whatgre gcolegical pyramids? How many typas of these

Differentiate batwean ectoparasites and

-é,’f@&&ﬁlj’ﬂé&x_é!’ a4
v U g/ Ae ¥ 0

e I T TR )
are? it G s skl
-,;:ﬂL%Jywu_fJ}uy,séu""trwia:'- P . TR (Y]

(v)
endoparasites and give thelr e}tamptes. ‘
(v)  How does blotechnology help fo deal with "?,ubﬁ;uujl,f da‘l:-i'i-_’i,g’-[-ﬁ’.f' ST drt W)
@nvironmentai issues - g .
(v}  How pickles, fruits and vegetables are preserved by fermentétion? %.Ny\ﬂ'ﬁ".:ﬁq..uécﬁ-"fr‘fug oo gl W)
-¢)§«}é:;1£w}v.,r¢'ﬂw (vil)
(viil)

(vil)  Vvrite ‘sources of mescaline and psilocin. -
ﬂ}_{dlﬂf;}ﬁ"‘f{!..iw )‘;: ?qp:f/q;‘fa,. P

(viily What ls meant by vaccines?
For which purgose do vaccings use? :
f SECTION- (2.2

18=9%X2

NOTE: Attémpt any two questions. -ﬁj@sg&; ”"’{*‘%‘3{ -'hbi
5.(A) How do plants get rd of extrl 4 S el ‘.\,{;L/J"\Tel{':.-i’ w’ﬂﬂwﬁ;&ﬂd&ﬂ%_ b ety (B

v\)ater and carbon digxide? xplain. : :
be its structure and types. £ -g,é'ut_aruw.s;wd'w ?u,,ré.[z (Bane,l%;! (1-1-‘)
4 ..t,:/.'.w.'ua.rlfithﬁ.,}-""’J.JS-","“ 7 (u).6

-é(i""”;ﬁiv:*;'." ~ (-r’)

(B) Whatls a bone? Descrl
3.(A) Explain Reflex Arc with labelled diagram.

(9]

(8) Write a note on followings:
Grafting ¢ g ) &S )

i e iu,nannﬂﬁ anainearing.

cuting (W&° ) & O ,
LRl At (T
PPN - LATRURE G

g <R



[NUMBER- 3461 SSC PART-ll (10th CLASS)

BIOLOGY GROUP- by -/ B
TIME ALLOWED: 15 Minutes OBJECTIVE U."ﬁ.ﬂ’ o 15 = &
MAXIMUM MARKS: 12 MTp - &y1-23 12= AF

fech \ A3 L rzrre UL s el Jrp QWY - ELes D 11 C B A ARL Ll -2F
{244V -leg&)uy/:}de@ML)si f:):}b -&Jﬂ%&n)ﬁgﬂ@/f&’—& g LS mlic gl -
Note: you have four choices for each objective type question as A, B, C and D. The choice -;[)::J'}fgamr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 A

(1) In aerobic respiration is used. ‘ s N ok st (1)
(A) Nitrogen /47t (B) Oxygen J:r 7 (C) Hydrogen (/».2%, (D) Carbon ¢£/§

(2) Which organ is protected by last two ribs in man? ?qtafoﬁngCTJDw:;d}TJuU‘ )
(A) Stomach s (B) Heart Us (C) Liver £ (D) Kidney »/

(3) Which separates middle ear from the inner ear? f¢ -/o,é.{‘u;ﬁ:,ub’ Juilfuféyw 3)
(A) Oval window g )( S (B) Malleus (=¥ (C) Incus Jq Q EJ) (D) Stapes Ji"

(4) Babies are born with about soft bones. o ks L A Ll @)
(A) 300 (B) 310 @%20 < (D) 330

(5) Yeast reproduces asexually by: @/ -:444‘48)1‘?/5;464&'?;&}3% (5)

. 7 A P> . 1=
(A) Binary fission o**t  (B) Fragmen t%«@ 2,8, (C)Budding £% (D) Spore formation th.s

AN ’
(6) Inside testes, where sperms are produ R e Nl 6)

(A) Vas deferens J”/’l:‘w, {B) Sperm duct .*fﬁ(;;

(C) Collecting ducts N (D) Seminiferous tubules Jz£U kS~
(7) When James Watson and Francis Crick proposed S S Us=30§ DNA Lqu"l}/ﬂw’L £ 7

the structure of DNA model?

(A) ~ #1950 AD (B) U~ +1953 AD (C) U« +1956 AD (D) & +1959 AD
(8) In artificial selection, the bred animals are known as: _ Lz oM B SR ISSS~ - (8)
(A) Breeds Jix (B) Vector /’-5 (C) Cultivars J:':f (D) Herbivores J/m_} Vi

(9) Which one of the following is the abiotic component of the ecosystem? ?;.uuﬁz.x’g LG’K(V ): lc..w‘f_;‘e» 9

(A) Producers J/yisz (B) Herbivores sl  (C) Water Jg (D) Carnivores J‘J”L}JK

(10) Which one of the following plant is parasite? fef V’:«":{Vu/c‘ﬂcf.}('//’ (10)
(A) Pitcher plant -t /fs- (B) Sundew s (C) Venus flytrap %/‘Juiu‘:; (D) Cuscuta t‘za

(11) When was the complete map of human genomé published? ?'nélﬂ_/.‘j‘); WLW' (11)
(A) U~ #2000 AD (B) o~ ¢2002 AD (C) = +2004 AD (D) ~ +2006 AD

(12) Which one of the following is not an addictive drug? ?c"..ufﬁwﬁ.ﬁugdufc_uﬁdﬁén (12)
(A) Sedatives % i (B) Morphine c/éA (C) Codeine c{if (D) Tetracycline @‘f'w‘/l

26(0Obj)( *)—2022(A)-40000 (MULTAN)



2022 (A)

SSC PART-Il (10th CLASS)

BIOLOGY  GROUP-

A

TIME ALLOWED: 1.45 Hours SUBJECTIVE ¢l 2145 =
MAXIMUM MARKS: 48 M- G 1- 23 48 =

NOTE: Write same question number =TS i4 r.f?g‘.": LJ:A?J:MJV&:{QKQ’!

and its part number on answer book, as given in the question paper.

SECTION-l Jslo

=
AF

-d

0]
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

2. Attempt any five parts. 10=2x5 -s‘.{{;@&’ﬂ&izlégcéf 2/
(i)  What is meant by gaseous exchange? ?c‘_:l/t_fc_.bpéu;!
(i) Describe the function of nasal cavity. -u,/ul.«.d"’ (Cf.x" J7
(i) ~ What is meant by double pneumonia? ‘-'4-"/‘[4‘-—9": s
(v)  What is meant by Thermoregulation? e S
(v)  Describe the causes of kidney stones. -q/wgayz,«fdﬂu(c—:/
(vij  What are co-ordinators? S nliESY
(viij  What is meant by nodes of ranvier? ?Q ‘.’u_?ié{:qzdfiﬂ
(vii) Describe the functions of spinal cord. LIS LS T

3. Attempt any five parts. 10 '3 @\O
(i) Define Osteocytes.

(i) Define Joint. Write names of its major types. éﬁ

(i)  Define binary fission and give one examp@

(iv)  Define cloning. ( 3%

(v) Define homozygous and het us genotype.

(vi) Defihe transcription.

(vii)  Write down the names of nitrogenous bases of DNA.

(viii) Define Mendel's Law of Segregation.

4. Attempt any five parts. 10=2x5
0] Define ecosystem.

(ii) What is meant by pyramid of numbers?

(i)  What is meant by assimilation in nitrogen cycle?

(iv)  Why should we }educe the use of natural resources?

(v)  Write uses of glycerol.

(viy  Write definition of fermentation with reference to biotechnology.
(viiy  What is meant by medicinal drug?

(viii) What are broad spectrum and narrow spectrum antibiotics? 1+1

SECTION-ll (1.2

NOTE: Attempt any two questions. 18=9x2
5.(A) Describe the osmoregulatory function of kidney. 5

(B) Whatis Cartilage? Describe its three types. 1+3=4
6.(A) Write a complete note on forebrain. b

(B) Write a complete note on budding. 4

~Eiferlingie 8 30y

S S

- EhL SIS g e is

@
(ii)

-EaJefigE AP A i
-EEE ()
EfS i A W
ESAF i)

- 4%& ASAL g5 (vil)

E S AEESWE S il
-5{/’.—&’!&'7!&&:—&( ..4/dlr
EokEE )

St itz ()

el SAFIES A i)
‘g et udUeffndant @
L fe LS W)
A e L3I, i)
e e tn (Vi
S e ST (i)

-g,‘:{/’..:p Pedle Ulr’uc—éf oy
_EoL st mtiesS ()5

R AR AN

(&)

-u:'d.;:l};{ (forebrain) ¢f 449 ()6

g ()

o e (’jj ow F i\ =9



PAPER CODE 2022 (A) | 1ot Ay
NUMBER: 3 466 SSC PART-ll (10th CLASS) |
BIOLOGY  GROUP-I PR S £

OBJECTIVE (%%e 2518 = o

MAXIMUM MARKS: 12 M -G31-2y 12= AF
S h | IA3oIE rerne f s E g3z <L Es D 4 C B A NRMGLIrg S
{,g_‘.glnﬂ -fL(g&J{.ﬁﬁ"&/&&NLﬁz J{Jﬁb -Mﬂﬂ&,«tﬂnﬂgﬂ@/ﬂfw Jok { Lf.éfu:}buyc.ug e

Note: you have four choices for each objective type question as A, B, C and D. The choice -¢)2J')}.»w

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

.awarded in case BUBBLES are not filled. Do not solvg questions on this sheet of OBJECTIVE PAPER.

TIME ALLOWED: 15 Minutes

Q.No.1

(1) How many hydrogen bonds are present between adenine

and thymine?
ﬁ//ze (8) 3

(2) Allele which is not expressed is called:
(A) Dominant iy (B) Gene ¥
(3) Lionis:
(A) Herbivore ssd

'(4) Al are carnivore plants except:

N\
(A) Sun dew #3s (B) Pitcher plant w21 %
: ~\
(5) When did lan Wilmut produced t g Dolly?
N
U #1997 AD U (B) £ 41987 AD

(6) Antibiotics are used to kill:
w@cteria |

{7) How many pairs of ribs a human body has?

(A) Virus 7

(Ay2 (B) 10
(8) Percentage of water in human urine is:

(A) 70% (B) 75%
(9) The smallest bone in human body is:

()étapes Jé)’
(10) Cells of cartilage are called:

(A) Collagen (jaulsS —

(11) Vegetative propagation occur in Bryophyllum by:

Métem et

(B) Petal ¥

(B) Malleus %~

(A) Root « %
(12) Whose part is style?

(A) Sepal J

géi;\sso{@/

& >
P \ \ %
(‘%;rnivore mé’)\(}&@%) Omnivore .3 (D) Decomposer u‘;{d 3
e

A A
Stk Lu*;/j_f’;Zqu‘ﬂJGmu: S (1)

(©) 4 (D) 5
@ b PR (@)

(D) Locus u";’
<< O

ilrgtesfmbher (4
(C) Venus fly trap .;.;/'Jlﬁtf:‘" (5f Cuscuta e~
s  (5)
(D) =~ #1970 AD
e O
(D) Protozoan sy
S Lok @)

€ 5 12

(C) U= 2002 AD
Y1 (.}'ndbﬂ“’ ‘QJ.LLJI./

(C) Alga &

-§.JfﬁAéJ dk&ﬂ v%&u‘ (8)

(C) 90% (1 95%
TSNV Ay Joch [E I )
(C) Incus Jq (D) Thigh bone d,:ourub

B WFL s S (10)

(8 Chondrocytes U146 (C) Osteocytes ULty (D) Tendon wi

?q_&yza_‘..ﬁl.uf w’-’g’?{&f;uf‘;ﬁflf. (11)
(D) Seed <&

e ot/ (12)

(C) Stamen u‘e’ %rpel ¥

(C) Leaves < (%



BIOLOGY  GROUP-II

TIME ALLOWED: 1.45 Hours SUBJECTIVE

SLe

MAXIMUM MARKS: 48
NOTE: Write same question number

Mho-4 ).

2.~
-4.61:‘;5—{4’:’.5’5{ b/:/’??/:l/dlf(ﬁ:{d( Gz

R 2 2Ly
145 = =

a8 =SS

Oy

and its part number on answer book, as given in the question paper.

SECTION- Jslo
2. Attempt any five parts. 10=2x5
(1( What is double pneumonia? Write the name of its causal bacteria.
(ii)
(iiy”
(i)
(v
(vi)
(v
(vilf)
3. Attempt any five parts.

(3/

Define Lenticels.

Write the effects of smoking on teeth.

What are Hydrophytes plants? Give example.

Write the causes of kidney stone.

Define feedback mechanism.

What is Hippocampus? Write its importance.

What is the difference between Rods and Cones?
10=2x5

What is the difference between compact bone and spongy bone?

@  Define joint and write name of its types.

(W Define binary fission and give an example.

(iv)  Define calyx.

(v)  Whatis genotype? Write down its types. o Qg(\o
(e~ Write down names of nitrogen bases. @

(v Define homologous chromosomes. Q}S

(viii) Define gene.

O<£O 2x5

ganization.

4. Attempt any five parts.

(i) Name the different levels of ecologi

(@  What are herbivores? &J\\\

(W~ Define commensalism.

(iv)  What is meant by ecological pyramid?

(w~  Give an example how biotechnology is helping
for better envircnment?

(AT~ Name the breaking enzyme and joining enzyme.

(uf) What is pharmacology?

(viii)  Differentiate between broad-spectrum antibiotics and
narrow-spectrum antibiotics.

SECTION-Il ¢9.2
18=9x2

NOTE: Attempt any two questions.

£n

(B)

£

(B)
7.(A)
(B)

Explain antagonism in muscle action 4
selecting biceps and triceps as example.

Write a detailed note on Reflex action. 5
Explain the process of gametes formation in animals. 4
Describe any five achievements of genetic engineering.  1x5

Describe the resistance in bacteria against antibiotics. 4

- fezlinbie 8 2/

L 2ELnE K Se ek

S K
-M&';‘{uf‘)&jf

e ?c‘_)'/\;’/c'_u»{’u"' ’Guf[,
—a/‘-’7 a&ﬁ’JdﬁJu»/
Sk
Aalin seinde
°§.J/§(‘J: ot 33

(i)
(i)
(iii)
(iv)
v)
(vi)

(vii)

(viii)

ez linbhe S 340

‘e OV (Do
LIS L e
?Qz}g:dwﬁ»u/—w PUA
ey ined

o s U sein
2L (Bases) A st
stf S /’J /rf;/Jg’fn

y sl

(i)
(i)
(iii)
(iv)
v)
(vi)
(vii)

(viii)

i fe e L1z O 4Ly

L e L SIS
Ut md

Ea ks

Se s e HA I

o3 Sud LIANAGAS L et s s

-&c&(’u‘:té_u‘gizmﬁ il 2§

“c_brd)’:fhﬁ

ESATL G

B BF ol dle (S We
é..»waLa.J"D:uuyb

28-2022(A)-30000 (MULTAN)

(@
(ii)
(iii)
(iv)
v)

(vi)
(vii)
(viii)

-é;f.wz&amma.éf -2

Explain the steps involved in formation of urine in the kidneys. 2+2+1 _u_/uga.df"mféé':-v“c:ufu»f (-5
bt LI LS B It lm sty ()

(-6
()
LI Kby e SIL L7 G (-7

et P ISR L TG 2 ()
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BIOLOGY  GROUP- by - G
TIME ALLOWED: 15 Minutes OBJECTIVE u‘}/’.ﬁ o215 = &b
MAXIMUM MARKS: 12 Mn-4 4-2) 12= 4§

S ch | SIS FL Nrsrne h U sty ¥R <L Es D 11 C B A Azl LJyy o

IRV -leg&:gﬁ/."qufaszL/:ué :(J:?b ..ﬁw‘jw.,,b’t S §L I Il L LfJu,ju.,yg._g sy
Note: you have four choices for each objective type question as A, B, C and D. The choice _q)’;g}'&:,mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will{result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not soive questions on this sheet of OBJECTIVE PAPER.
Q.No.1 A A
(1) An organism has two different alleles for s LH:,/L‘»:’ ! ‘ug;zf)‘f'l_j%;{—é:wﬁugubulg.g (1)

a single trait, this genotype is called:

(A) Homozygous ,uKusl) sa5a (B) Hemjzygous sl caa
(C) Heterozygous (L8l g iua (D) Homologous £ sl 4 sa

e Pl LEaF @)
rasitism r}'%%@(m Predation ¢4 ¢
@& RO O 7 R TR
v @JK (D) Oxygencﬁ{ T
- -g,,'fj!',ftUbi.ndb”fuﬁd&‘(ﬁ/nlbﬂ} (4)
@ s (D) Bacteria | 25
0/\0? -g—[ﬁle&f v

(2) The relationship between sucker fish and shark is:

(A) Mutualism (y‘;';;’ (B) Commensalism (}qu/:r : (9]
(3) Which is the abiotic component of ecosystem?

(A) Producers j43s¢  (B) Herbivores sz (C) Carnig
(4) The microorganism used in the production of Formic Acid @

(A) Aspergillus U4 (B) Yeast wt Q;?cmu

(5) Mescaline is obtained from: e (5)
(A) Cactus A (B) Mus ¥ (C) Yeast |2t (D) Bacteria | &
(6) Most of the gaseous exchang eaf occurs through: -:.g;ly;ﬁn.bpuly(uﬁfuﬂzr (6)

(A) Lenticels (¥ (B) Stomata test (C) Cuticle| £y (D) General surface £t

(7) Rubber plant removes waste as: _g‘:.%ui’fgﬁub&._ b{jb"/.J (7)

(A) Resins vz~ (B) Mucilage Z':L;;‘ (C) Gums / (D) Latex U’Q

(8) Al of these are hormones except: IRVARINY, 572147 (8)

(A) Insulin utjr;l (B) Thyroxin J@JG‘ (C) Pegsinogen /=¥ (D) Glucagon cjf 23

(9) The lobe of cerebrum concerned with hearing and smell is: -:‘_CnC&"Ja,gn,lé:z._’JuKm L (9)

(A) Temporal s (B) Occipital S#5™T  (C) Frontal J (D) Parietal iz
e A BSuh S AboY  (10)

(10) The number of bones in Human skull are: /

/
(A) 14 (B) 22 ‘;{C) 24 (D) 28
e a Mgt E ()

. 7 / 4.5 C, 3 2 i 4 . #s
(A) Binary Fission ¢*4l  (B) Fragmentation' "/  (C) Multiple Fission JUd" (D) Budding %
e bl L Rl pes) (12)

(11) The method of reproduction in Bacteria is:

(12) The locations of genes on chromosomes are called:

(A) Loci Jey (B) Centromeres J#4 /> (C) Centrosome rm/"" (D) Kinetochores AR

26(0Obi)( **)-2021 (AY-40000 (MULTAN)



BIOLOGY  GROUP- by - oo G

3 4

TIME ALLOWED: 1.45 Hours SUBJECTIVE _JUGile H145 = =

MAXIMUM MARKS: 48 MTN -G(- L | 48
NOTE: Write same question number -.;_.equ.{.,ﬁr,.ﬁzg.‘; Zg.u/:z;szfdlﬂﬁ:{q&’(}m -2

and its part number on answer book, as given in the question paper.

SECTION-I (Jslo

'C\o{

2. Attempt any five parts. 10=2x5 -g,f;/&yzéwég:.éf -2/.{)':*
()  What are Nostrils? Y54 (i)
(i)  Define breathing and write names of its phases. ,u:”{/tz./.d’ Ll sl »nyuf'; (ii)
(i) Write down symptoms of Asthma. -g&f;w&&, (iii)
(iv)  Differentiate between guttation and dew drops. ~f~(/‘:;uf,f'5:! uﬁf (iv)
(v) How does removal of extra water occur in plants? &_gé‘./ &l }U{ Jgﬂ)c;()'z;.,'c.){ {(v)
(vi)  Write the names of components of coordinated action. -uf’gr (Ll JEFESY (i)
(vii) What are dendrites? Write their function. 4{09;}".’ Yol SO (i)
(viii)  What is the function of parathyroid glands? -é’f/ff ok udos (il
3. Attempt any five parts. 10=2x5 _gf{/.,wét?létc,df 340y

L ViUt el e wi @)
g Sy S e ey G

i lum it (i)

(iv)  What is meant by parthenogenesis? Give examples. S %ﬁo -ufluillf' el J"'frfg (iv)
-SSP W)

“/]i'uy:?w ‘.'t:’/u;?./..’zl';'f&._;{f E ‘gl_cix:;kférld_dif (vi}

Q) What is meant by Bone? Write the names of its two types.

(i) Define ball-and-socket joints and give examples.

(iii) How spores are formed in Rhizopus?

(v) Define genes.
(vij  Why did Mendel select pea plant for his experime

Write two reasons. @

(viiy  Define Central Dogma. S SIS ;be;ﬁd/"r (vii)
(vili) Define homologous chromosomes -g’!,//" :fﬁu(us}:?,?ry‘;/i/@’ﬁuﬁ uu'u,u/‘f_y /U/rf;/ué’rﬂ (viii)
Write the pairs of homologo osomes in human body.
4. Attempt any five parts. : 10=2x5 -ég/u&liﬁl?létc:.df Wy
()  Define food chain. SIS ISSEE )
(i)  Differentiate between Ectoparasites and Endoparasites. ~u/uw/u‘ Al V‘/’)'L/ I (i)
(iii) What is permanent parasitism? ?“:.L_/(fwﬁd“’ (iii)
(iv)  Define species. -L[/r\-é.’/?d%& (iv)
(v)  How wouid you define fermentation with reference to biotechnology? elns A, S LB )
(vi)  What is contribution of Pasteur in the field of fermentation? IS gufuwéu’f“/' (vi)
(vii)  Write two problems faced after resistance to antibiotics. fe mvw‘;ﬁg@umurf&u&éjggd&t (vii)
(vii) Write names of two crimes in which drug addicts are involved. ?ﬁLﬂ&}JQﬁJ&étﬁffZ)J (viii)
SECTION-Il 1.

NOTE: Attempt any two questions. 18=9x2 -g;f{f@gizéau:r,,:,él -2y
5.(A) Explain functioning of Kidney. 4 -q/yu,u’d’" ot T ).8
(B) Define cartilage and discuss its types. 5 ‘Q/yujJﬂﬁleuU/JfJ ol (&)
6.(A) Write @ note on anterior lobe of Pituitary Gland. 4 -i/fw”/w 'Lk‘fd/)i (-6
(B) Explain budding in yeast and hydra. 5 ,.;guy.J:‘”JJw:w,w% (b'«)
7.(A) Write a note on drug addiction and its associated problems. 4 -M.;;;Juw[.wusgmf.;gi (-7
(B) Describe the basic steps in Genetic Engineering. 5 _q/ugm/d:gif/":{lu@f Caeed
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BIOLOGY  GROUP-II - end  GIEL

TIME ALLOWED: 15 Minutes OéJECTIVE u‘fy"y w15 = =y

MAXIMUM MARKS: 12 MTN-GJ-2I 12= A
Sk \ FAB 3L parne kL E g\ E g Q¥317 S L LD 41 C B A bz b Ly nd
(At KA s SE Lol S sty Moo st i §E S5 Sk | LS kil 2
Note: you have four choices for each objective typel question as A, B, C and D. The choice -Q/Qd'ﬂ;:c«mr
which you think is éorrect, fill that bubble in front of{that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) This is not a part of the hind brain:

A Ay
e oKy ()
(A) Pons #{ (B) Cerebellum "J"’UI ) Cerebrum ¢z~ (D) Medulla oblongata QJJ},;IU;&/
SR FLEIN @)
(A) Osteocytes *Lsx*41  (B) Chondrocytes U s 8 (C) Osteoclasts U~ x4 (D) Osteoblasts U~ T4

e dedia i @)

(2) The cells of cartilage are called:

(3) External fertilization is found in:

(A) Reptiles }Iu:,/ (B) Birds <4y (C) Mammals # (D) Amphibians 713
(4) The unit of inheritance is called: <Q><i s _‘Lt'ifl({)(ég’d/:}b) (4)
(A) Chromatin u't.:/ (B) Gene ¥ (C Proteino K & (D) Chromosome (r/,/

(5) DNA wraps around histone proteins and forms -‘,g;f GGE%; uﬁ;f‘ét’&&VJffgg;)z ji;guﬁf" DNA (5)

round structures, called: %y
(C) Nucleotides )th‘:fxl (D) Centromere Aoy
e JeldAS A 6)

(C) $nake - (D) Deer ¢z

(A) Nucleosomes 7;@;@2 (B) Nucleoside

(6) Itis an example of primary consumer: _.¢

(A) Frog JS&» (B) Li

(\-s

(7) The organisms in the ecosystem that are = &JT/%JL»}(&lg.wz.u”:}‘gu'u»,;’ﬁ/'lig:ﬁ)’w("/ £ (7)

responsible for the recycling of plant and animal wastes aré:;
(A) Producers 43y (B) Decomposers )A:{dj (C) Consumers J/;j‘/"/ (D) Competitors 4}7&&%‘6{

ke Gt Bal (@)

(A) Fungi [j[i’ (B) Bacteria gﬁ?.c. (C) Algge u%! (D) Yeast <z

(8) Lactic acid fermentation is carried out by:

e Jed o uny nswd ()
(A) Aspirin ¢f g4 (B) Insulin dﬁ,j, (C) Opium ¥ (D) Cephalosporin s sk

(9) Which drug is obtained from plants?

(10) A narrow opening present at the floor of pharynx is called:;

etz DESD (10)

(A) Larynx J;’ (B) Glottis ujL( (C) Nostril d/‘/t (D) Trachea L)://‘

(11) The tube between kidney and urinary bladder is: -‘a(twtut_//;é LM S gl sl 4_:f (11)
(A) Ureter 2.y (B) Urethra ’/:’:/z’ (C) Renal tubule J}:-;:'J‘/ (D) Nephron s ¥

(12) The number of lobes in cerebral cortex are: _c‘,)'ﬁJz;’uﬁ‘Jg:KJ/;.,( (12)
(A) Two 1 (B) Three (C) Four b (D) Five &l
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TIME ALLOWED: 1.45 Hours SUBJECTIVE SELe 145 = B
MAXIMUM MARKS: 48 Mm-92-2) 48 = A
NOTE: Write same question number -q.(ym_ﬁ;..{.,!lrﬂ{’; 61:;:%2»&:&}&«5%44(&& -y

and its part number on answer book, as given in the question paper.
SECTION- Jse

2. Attempt any five parts. 10=2x5 -Q{;fagméwégcéf -2/:"‘)5:’

(i) Describe the function of stomata. _EE S (i)

(i) ~ What is meant by vocal cords? ?g.ﬂ/&&;)b&f» (ii)

(i) Define Inspiration. _EASFaF i)

(iv)  What is glomerular filtrate? ?‘alfq f’"/’; ﬁ){ (iv)

(v)  What is urethra? VA (V)

(vij  How does co-ordination occur in uni-cellular organisms? ?‘adnd: U:}"';:'jJT}KJ:UUUhg/}Iz’L}{' (vi)

(viy  What are interneurons? St AL (Vi)

(viii) What is myelin sheath? ‘ "u‘i&fi""u‘ Lo (viii)

3. Attempt any five parts. 10=2x5 g fez iz 8 340

(i) Define bone and write its function. u“J(K 19 wu’/..d /"Jd» (i)

(i) What is difference between Exoskeleton and Endoskeléton? "guﬂfu‘ 5yl sl / I (i)

(i) Define Reproduction. Write the names of its two basic types. u“j sk wmu“/._» /’JJC;// (iii)

(iv)  Describe the importance of Reproduction. @ ,u/uv./! J«_ﬂ;/u (iv)

(v}  Define Traits. Write two human traits. o {& O u"uu «/dw» J/J/’Ju’/ (v)

(viy  Differentiate between gene and allele @% -g/u/u.’f Jfl »hJE (vi)

(vi) What are nucleosomes? @%5 crlonlrmde (i)

(vii) Define Loci. 0 /e85 (i

4. Attempt any five parts. 5 10=2x5 -gigf},ymélmég;,é! -4/.};.)1;’

()  What is meant by abiotic compo an Ecosystem? ‘.“aﬁ/g@l’zl.ﬁf@/—'i(w){‘ @i

(i)  What are the producers? Sl iy (i)

(i) Define commensalism. YD B (1)

(iv)  Whatis meant by 3R, for conservation of nature? colpfe IRLLLFLH (V)

(v)  Write the use of ethanol. SV JI (V)

(vi)  What is meant by recombinant DNA? e AP IS 5_»/;90,{51 (vi)

(vii)  What are broad-spectrum antibiotics? st nf % g&il(/"gﬁl/. (vii)

(viii)  What are the sedative drugs? S’ug@;ﬂ[ ﬂji vk (viii)

SECTION-Il (1.

NOTE: Attempt any two questions. 18=9x2 -éx/’awépuwa,é[ Y
(A) Explain different mechanisms for homeostasis in plants. 4 /.au,@w p s u"” wniUny (D5
(B) Define skeleton and explain components of human skeleton. § -u”/.wu,J 71 u""c duwu/_,u/J

6.(A) Describe the structure of a general neuron. | 4 -“‘c{i:ugyw,(uw;d/u{ (Jl)_6
(B) What is seed germination? Describe epigeal and 5 ,“éug.u*z&égmﬁ@ ?.T.Lfbﬁg & (&)

hypogeal germination.

7.(A) Describe the Mode of Action of Vaccines. 4 -q/ug.y)KL/?KL;rg (N7
(B) What are fermented foods? 5 -q/uyui;/;i.ru: S ‘?c‘.—gfvfl/?f & uﬁ—y/ (o

Describe groups included in fermented food.
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PAPER CODE = aveav \ry

NUMBER: 3461 SSC PART-l (10th CLASS) |

BIOLOGY  GROUP-i M 7/ /o .G, -lo PSS S )
TIME ALLOWED: 15 Minutes OBJECTIVE (537 215 = &
MAXIMUM MARKS: 12 12= AF

Ak § IS 30NNt zrnen o L L s iy g Q6317 -t LE 3D 1 C B A 2l Ly )
{24V ‘(L('LJQ‘.?)/&/J@A’JA_LZ I()u"b -‘J’J}JH}V‘KUJ&J@J)“JL& Jok 1 L/i/u:/’l;u&ir_ug RSl
Note: you have four choices for each objective type question as A, B, C and D. The choice -q)i;d’?}.:,uw
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fili the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Stomata are present in; R PR PRI g (M
(A) Xylem r‘»’l/ (B) Phloem f)’ (C) Epidermis U235 (D) Endodermis 754!
(2) Rubber plant removes waste material in the form of; -;.L%uﬁvﬁ‘ﬁul./b’é_bg(z/‘ (2)
(A) Latex ch (B) Gums / (C) Resins vz (D)Mucilage paliw gie
(3) The middie layer of human eye is: @@ ,g_JJy/;JfTJLJI (3)
<&

(A) Sclera | ;‘/ (B) Cornea g/f (C) Retin@ (D) Choroid ud
@ 5
{4) Which hormone stimulates the contraction of uterus walls@ ‘e E‘//b.g;».{ /‘JJ. /‘CU:U}/'{’)JJ/'{’w/J§Vc)I (4)
(A) Caicitonin Jiu’lf (B) Oxytocin J:‘r’/ i &arathormone umﬂ?tg (D) Thyroxin g’(bJu?

(5) The number of bones in human skull is: @ < ;MJ&J!J"J:JZ;/JMJ! (5)
<&

(A) 8 (B) 14 (C) 22 (D) 26
(6) The plant that reproduces uber: _Q.bgUlsi_/u‘gﬁ;,g,-aj.AL/.;:'(:“ (6)
(A) Onion L {B) Potato #/7 (C) Garlic o (D) Ginger !
{7) In DNA molecule adenine pairs with: ~¢L'.(:lb.|]£p:(.rs': o dd&lui’dxgt DNA (7)
(A) Cytosine ¥ (- (B) Guanine L (C) Uracil J 1y (D) Thymine u:JLIf
(8) The bred animals are called: Ll eI S des (8)
(A) Cultivars »h®  (B) Varieties 21 (C) Hybrids 74 4} (D) Breeds 4.
(9) Decomposers are: - }/J:;*/d)’ (9)

(A) Algae & Fungi 3&5’ 5l Lfl (B) Fungi & Bacteria L/}_C. sl «Jts’ (C) Viruses 7Is (D) Mosses

(10) Which is a non-renewable resource? S‘.;.Jkﬂgfudélu‘,g,&}ﬁ‘ t (10)
(A) Fossil fuel J£J" 7 (B) Water 3| (C) Soil ¢ (D) Wind 1%

(11) The enzyme works as breaking enzyme: e rer,)L(’ly'::A_l,z‘_,K(’;ﬁn,, (11)
(A) Ligase #0Y (B) Amylase i (C) Endonuclease #5121 (D) Lipase /=l

(12) Which is an anti-viral protein? ‘»'c;-tfo’!r-ufﬁgu'//’ﬁa:‘;“‘ (12)
(A) Interferon ws2 £ (B) Insuline 2+ (C) Thymosin /¢ (D) Urokinase #($s
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SSC PART-I (10th CLASS)

MIN-10-Gyo2o W=/ 03

BIOLOGY GROUPA

*

TIME ALLOWED: 1.45 Hours SUBJECTIVE @i » 145 = o
MAXIMUM MARKS: 48 , 48 = AF
NOTE: Write same question number ~ ¢l L g SR Zw;/:";z;,lf,‘vlrm{;,}b’(}lz -
and its part number on answer book, as given in the question paper.
SECTION-i Q:Lﬁ
2. Attempt any five parts. 10=2x5 g fer iz 8 240y
(i) What are Alveolar ducts and Alveoli? fury” dfﬂz:ﬁ' vl u’”/?/’!’.k.' (i
(i) What changes involve in chest cavity during inspiration Process? Wt L.S?'UQE #YRBL e SR (i)
(i) Differentiate between Acute bronchitis and Chronic bronchitis. wu:""f))ui u’iﬁ‘u...f sl .:,,:.( I (i)

(iv)  What are Succulent Organs? st ATedt (v

(v) Write any two causes of kidney stones formation. -Jf’g_«,gzwd 3;@2_-&/7@&4.;)‘ (v)
(Vi) What are Receptors? Y Sy (Vi)

{vii)  What is the function of Motor Neurons? @ ‘?ﬁ:..y'rK ¢ Skl (Vi)
(viii)  Write the two functions of Midbrain. @ -u."? K»Lufj:/: (viii)

3. Attempt any five parts. 10=2x5 @0@ -g{{/’o&‘ﬂélziégc.éf -3/.}dly

() Differentiate between Locomotion and Movement. O% & 5 BOAAE oY (i)
(i) Write two functions of Ligaments. @ Al 6 i)
(i)  Define Double Fertilization. & GIWPEFIRIS i
-M@&l:dkn({il&{é]@ (iv)

LSS s W)
el e Y i)

T ANy

(iv)  Write two main causes for spread of AIDS, @
(v) Define Genetics. <&

(vi)  Whatis Co-dominance? Give an

{(vi)  Write the Genotype of blood

(viii)  What is difference between ozygous and S TV o8 k8l o stum sl W) goga (i)
Heterozygous genotype?
4. Attempt any five parts. 1M0=2x5 -;{,/’.pgmétztégc.&/ -45‘.2,)':’
(i) Differentiate between Primary Consumers and Secondary Consumers. -_‘fd/'u:ﬁ/z'/'@/ﬂé; s G Ay ()
()  Draw a simple Food chain. ,gjf‘%uﬁ}}uh{f (ii)
(i)  Define Biologica! Nitrogen Fixation. s /Ju’-"'gu%/tj:?ﬂf@ (iii)
(iv)  Define Intraspecific Interactions. WQ//_é‘fJau@.@;:’!}-'l (iv)
(v) What is meant by Genetically Modified Organism? ?%)Vylc:./lih.w,«f’gf}f{/)jw (v)
(vi)  What s the use of fermentation in cereal products? ?ﬁ;.dwtl{ 1 u’»’.‘/}wui"ﬁ,;é_b&,tf (vi)
(vit)  What is the difference between Antiseptics and Disinfectants? -;_f_fJ)uf oSl ol el el Al (Vi)
(viii)  What is the use of iodine Tincture? ?;_{[JL&‘JK /ﬁﬁgjbﬂ (viii)
SECTION-ll (1o
NOTE: Attempt any two questions. 18=9x2 -éj:uz&:,mmc,df -2
5.(A) Explain the functioning of Kidney. 4 %_f/:)u;d’d’.’f.a.:f (.5
(B) Write a note on Hindbrain. 5 -g,f,/;’.:){q/. W (&)
6.(A) Whatis Bone? Explain its composition with diagram. 4 -é.:»u,:_fu’.umfw ?g.gfwf (h).6
(B) Define Vegetative Propagation 5 _g‘,f = L’uJQ)&"./’ruu‘C o}:g's;;fé‘:gf"ulé - fd/u%"":ﬁ{}f&‘, (<)

and describe two most common methods of Artificial Vegetative Propagation.

7.(A) Write the objectives of Genetic Engineering. 4 Sl L Sisas! ebduia (). 7




PAPER CODE 2020 (A) Ve S0,

NUMBER-3464 SSC PART-Il (10th CLASS)

BIOLOGY  GROUPI  MJM Jo-4), ~20 bos < B
TIME ALLOWED: 15 Minutes OBJECTIVE (§32» w15 = <y
MAXIMUM MARKS: 12 12= AF

A \ SAh IO AL pecne o s E g J6h2 - BELED 1 C B A 2Nl Ly -2d

YRV -fabgﬁﬂﬁéfuﬁaxﬂ}/&f.ri }(J,!fb -&/rjwvlﬁuflufezﬂ,(i./'z Joy L L/Q/wﬂmyc...{' &2
Note: you have four choices for each objective type question as A, B, C and D. The choice -u./:sd’};:-z«u'r
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles wili result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled, Do not solve questions on this sheet of OBJECTIVE PAPER,
Q.No.1 A A
(1) How many pairs of homologous chromosomes ‘.‘u;a".ﬂ;/'zgﬁ]}’f://ﬂﬂf&)‘/ﬂ}v’-ﬁdu' (1)

are present in human body cells?

(A) 22 (8) 23 (C) 24 i
(2) The alternate forms of a gene are called: <3/ AT JMJH‘UJPJU (2)
(A) Locus g,fgj (B) Chromatin u?;f (C) Alleles Al O D) Histone #

Sk Tz A LS AFL (3)

(3) The total amount of living or organic matter in @
an ecosystem at any time is called: %
(A) Energy ./ (B) Population ﬂg@ Community U'rr (D) Biomass (¥}
<

{4) Which animal is a Herbivore? ‘e (Herbivore) mg} /s /)\gvu/ 4)

(A) Grasshopper 1266 (B (C) owl 5 (D) Fox $2

(5) Dolly is the name of a: ‘Ll bl (5)
(A) Rabbit 657 (B) Flower ¥ (C) Mouse <7 (D) Sheep

(6) Expired drugs can cause damage to: CSE ke ol SEe S gl 6)
(A) Lungs & %% (B) Testes ;é’—“ (C) Ovaries 71! (D) Kidneys 4..)/;

(7) The human chest wall is made up of pairs of ribs. -;..&nJ;};uu‘ﬁ “:.u,é’v' ﬂ;‘:d/'é[}li! (7)
(A) 8 (B) 10 (C) 12 (D) 14

{8) Rubber plant removes other waste material in the formof __. -« - J'J uL/K’_{.. 0 596%, (8)
(A) Resins Yy (B) Gums f (C) Latex JQ (D) Mucilage  palsw sie

(9) The part of brain that coordinates muscle movement: ' -q..daﬁ st fa 678 26 s (9)

{A) Cerebrum ¢z (B) Cerebellum f‘-"/: (C) Medullz oblangata quulu:}y (D) Pons y’g

(10) Pairs of spinal nerves that arise along spinal cord are: -ujé‘.«__}ﬁ . Lu‘f ,L:.JQJJ LKJ’IL; (10)
(A 31 (B) 13 ) 2 (D) 12
(11) Cartilage and bone are types of ______ tissues of animals. _u_t(DlJJﬁ Lyt mbsl (1)
(A) Muscie (B) Connective & (C) Smooth # (D) Cardiac o ¢
{12) When pollen grains mature, they are transferred to: - r@g,fyﬂ?ugikgg/u:fdg.,e (12)

(A) Stigma L& (B) Carpel f ¢ (C) Sepal &~ (D) Root 7



2020 (A) S

SSC PART-ll (10th CLASS)
BIOLOGY  GROUPl M GM 1. G 5 20 s - G
TIME ALLOWED: 1.45 Hours SUBJECTIVE JPLe H145 =
MAXIMUM MARKS: 48 a8 = AF

NOTE: Wirite same question number

-4.51,‘;;_44!’,6:5{ b/:/?:ZAlf.‘U‘r‘ﬁ,{Qb’Qtz -
and its part number on answer book, as given in the question paper.
SECTION- Jsls>
10=2x5 - fez L 8 24 )y
Lwpdleds )

2. Attempt any five parts.
{i) Write four symptoms of Emphysema.

(i}  Differentiate between Acute Bronchitis and Chronic Bronchitis. ?+J)[wﬁ@;4i sl ek (i)

(ify  What is primary goal of World Health Organization fe YOS d/'{c_’-ﬁfl{-c-/{éu:z‘-’x&fw”’dl o (i)
regarding prevention of lung cancer?

{iv)  Define Osmoregulation. & »-é’/‘Udﬁ‘J:{ﬂ’" (iv)

(v)  How Calcium Oxaiate is removed in tomato plant ?s;_WG/-L;:,;(»:L/Q.J::%Jk’u».?'}f'??{ﬂb’{ L
as metabolic waste?

(i} What s function ot Schwann cells in human nervous system? ?‘al;fufﬁ CRUPLST LS (i)

(viiy  Write any two growth effects of somatotrophin hormone x‘égf&?‘-’n’:f/{ﬁdwﬁuﬁkcf. rdy (Vi)
on human body. e

(vii)  What is optic disc in human eye and why it is e u@f&awgﬂ-“u@&ﬂf Tdur (i)

referred as bilind spot?
3. Attempt any five parts.

0] Write the role of Skeletal System.
(i)

L fe 2128y 8 340
_4‘51,/(('” X (i)
i L A G

10=2x@0&
A

Write difference between Flexion and Extension.

(i)  What is meant by Hypogeal Germination? Gj e@xamp(es. ,.:_T:Jufﬁm e stpYe SFRSE i)
(iv)  Define Externai Fertilization. Give two O - ’ué""/» -.é -&/Uﬁ/&"/’by/""r ¥ (iv)
(v)  Define Monohybrid Cross. FE A vy )
{vi)  Define Translation. ~.."."!:~—é‘/‘."J uﬁ"u'/‘ (vi)
(vii)  Define Mendel's Law of Indepéndent Assortment. RESSTY 1 -‘J/:'r'-’f‘ﬁ';_di’-)'@ Vo Jke (il

{viii)  What do you know about Breeds and Varieties or Cultivars?

4. Attempt any five parts. 10=2x5

\?%:z,‘?g__,«’u:‘,,g.im,f b s s ik

)
(viii)

o2l & 4 )y

(i) Define Herbivores and Carnivores. “_é’ - /U ' )/»L'SJK i Jm(,} /e (i)
(i) ~ Whatis Symbiosis? Name its any two types. -#téﬁ(tﬁi»&ﬂ fe- VU (ii)
{iiy  What is meant by Afforestation? el ( ) e a’»(_: (iif)
{iv)  Whatis Greenhouse Effect? ?‘a&( Ly 5}«.’[ 7w
(v} What is meant by Genetic Engineering? Se il LA 5E ()
(vid  Whatis Fermenter? et K7 (i)
(vity  Give difference between Pharmaceutical drugs e ISR Caiat) PAW I = lnt) D3t (vii)
and Addictive drugs. )
, (viil)  Alexander Fleming is famous for what? ?g.gqu’d/ﬁﬁﬁl (viii)
SECTION-II (2242
NOTE: Attempt any two questions. 18=9x2 -ZE felzlelmedl -od
5.(A) Describe the structure of functional unit of human kidney. 4 s Sl L un (.5
(B) Write down about Paralysis and Epilepsy. 5 - g&'w <. J/ 2 éli (<)
6.(A) Define Arthritis. Explain its types. 4 SISy S S AT (.6
(B) Write a note on Gametogenesis. 5 L ¥y puins saf (2D
7.(A) Describe the scope and importance of Biotechnology. 4 -qfug:,:cw,:cw)l‘«?ﬂ (-7
(B) Explain the mode of action of Vaccines. .QVMM (<)
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NUMBER: 3467

BIOLOGY (NEW SCHEME) GROUP-l (20152017 o) i - oo/ (& £) G20
TIME ALLOWED: 15 Minutes OBJECTIVE (}'.‘3/"/ o 15 = =
MAXIMUM MARKS: 12 12= A

S cfh \ M3 L Nrerne S u:f':éfé.:&b&dlrﬁgdb’dlz -ugéé.: D CB:A :.LI.Z.'J;A;LJ':’/: s
YEYR LY/ -(L(g_&)d;{ﬁfufaaﬂﬂ./:hé J(J:/'b -(mﬂw.,,vzuﬁgﬂ:.mﬁ./i Jok LS smikie L S5
Note: you have four choices for each objective type question as A, B, C and D. The choice -uj)l;}’?;‘-.-_u Yy
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Insuline and Glocagon are made by:- Y -0 1 b’fuld:’;j# (1)
(A) Pancreas ngév (B) Liver }; (C) Hypothalamus .Z:;’; (D) Adrenal gland L'»!Jz{l
(2) The bone in which blood vessels are found:- -q.Jk;é; Py LY, (2)

(A) Compact bone ui..»,ﬁ.‘r (B) Spongy bone d:{fg @
(C) Bone marrow iss ¥J4 (D) None of these u.’{féf:_dul Q
(3) Process of vegetative propagation in onion is cm ie&but byg @tud L J¥ u’gﬂ4,‘é&',uf! A (3)

(A) Corm (24 (B) Rhizome (5”& (C) (D) Stem tuber 27~

(4) Reproductive part of plant is:- % ; f } K.;:'__ o Sy sbesy (4)
(A) Stem € (B) Leave @@(C) otk & (D) Flower’ J

(5) Albinism is a trait:- & *‘ \ e A ¢ (5)
(A) Co-dominant &%, Recessive . (C) Dominant /¢ (D) Incomplete dorﬁiﬁa.nt .;-ﬁ:';su“rt

(6) Number of Nitrogen b NA. is:- e AIEAFPS CI)S3 (6)
(A) Four s (B) Three f (C)Two » (D) Five &L
(7) break down complex organic compound. -~ /S },‘,:?J.-.l,f/éyh._.;iv (7)

(A) Consumers J/z‘/"/ (B) Producers Js¢is;  (C) Decomposers ... ,(dj (D) All (LT'

(8) _______is an antiviral protein. -4'-‘-15,<J/’!,G;-l.§ I (8)
(A) Urokinase #%.¢  (B)Interferon ws2#  (C) Thymosin w»J# (D) Insuline S

(9) Digitalis stimulate the organ:- -4‘-.(,'{:.,{/’ SR ©)
(A) Brain {is (B) Heart s (C) Kidney s/ (D) Lungs « %

(10) Larynx is a box which made up of:- -lLt'nL'«.i:‘chg.—_ﬁJQ (10)
(A) Bone {4 (B) Cartilage (‘55’ (C) Blood cells % (D) Muscles

(1) Latex is secreted by:- cedntbe U (1)

(A) Rubber plant 4_){'5‘/./ (C) Keeker s (C) Ladyfinger $,#S 4= (D) Brassica Jry
(12) Temporal lobes is concerned with:- -:‘.t:ndﬁ b’z:Uu«;’ (12)

(A) Visaul information Jw c.&f: (B) Hearing and smell me (C) Fear Ji# (D) Taste 23
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2019 (A) MN- ]t/ A,
SSC PART-I (10th CLASS)
BIOLOGY (NEW SCHEME) GROUP-l  (2015-2017¢/% )ty - o/ (£ £) GH¥L

TIME ALLOWED: 1.45 Hours SUBJECTIVE _@Le Z145 = 5
MAXIMUM MARKS: 48 , 48 = AN

NOTE: - Write same question number -9(,,@:;_44:,’,&5{ b/)ﬂ‘;ZJ,‘/Ulr&,{Qb’db‘f -y

and its part number on answer book, as given in the question paper.
SECTION-I gJ:LA’

2. Attempt any five parts. 10=2x5 g fepz Loz 8 240y
()  Whatis Double Pneumonia? Write reason. Uk Se Ly )
(i)  Write symptoms of Bronchitis. LY ST Wal TV ()
(i)  What is Arteriosclerosis? Describe briefly. - oA S gfﬁ/rg;‘ﬂ' (i)
(iv)  What is the difference between Transpiration and Guttation? fe IV u’ﬁ"{,lj-’}\'a'l) (iv)
(v)  Wirite two benefits of Homeostasis. .y /‘i’i}»L J e v)
(vi)  Define Coordination with example. -gjfa.dﬁ-..yﬂ{ u’f’“iﬂ'f (vi)
(vii)  Write the functions of Rods and Cones. < IS8 (vil)
(viii) Write the names of four parts of Eye. .y /}t&w‘?b&f T (viii)
3. Attempt any five parts. 10=2x5 /full.?él?léh:.d!( 34y
(1) Differentiate between Exoskeleton and Endoskeleton. éut u/u: ‘_;9‘; b sl J)'C r( ! (i)
(i)  What are Hinge joints? Give an example. O@ SaJeld ‘.‘uggﬁ/' [ £ (ii)
(i)  How does yeast reproduce asexually? < %§ te by 5:46/4¢.l_ Ao i)
(iv)  What is Parthenogenesis? % e tf JEEL (i)

(v) How does double fertilization occur?

S dn il hd SN )

(viy  Differentiate between Homozygous gey -,5 u_v.J)uL,fcr':w“-:’m,a # t’i«_‘?wgbm (i)

and Heterozygous genotype.
(vii) State Law of Independent

nt. éuv./' Vi ta 100 (vil)

(viii) Differentiate betwee inance and incomplete Dominance. -éf "'bufut u’“‘: c 2l u’?‘:;-f (viii)
4. Attempt any fiv ; 10=2x5 Eflinge & 4 )y
(i) Define Ecosystem. «¢a -—s’/‘U(’/ i 0
(i) Define Biogeochemical Cycle. da_d /7&,’7&/&‘( vl (i)
(i)  Differentiate between Population and Community. WEABISLY, J)J:,iu)il (iii)
(iv) Define Genetic Engineering. -¢a.y FSEH g ()
(v)  Define Fermentation. - 40 P u’-’?’ (v)
(vii  What is meant by Pharmaceutical Drug? g;yy&..ﬂs‘fm/u (vi)
(vii) Name any four sources of Medicinal drugs. e &tf_ébs;g.’:d;"[_@w (vii)
(viii) Wite down the role of “Joseph Lister". e n ST P (il
SECTION-II (22
NOTE: - Attempt any two questions. 18=9x2 -g-.’,/)’ayzé.;mmc.éf e
5.(A) Write note on Kidney Transplant. 4 -u:'ﬁ:’{_'/‘ M}d/ (.5
(B) Explain Spinal Cord with the help of diagram. 5 ‘L,;/.-»u,f LSS LKJ’:L; ()
6.(A) What is meant by Cartilage? Explain its three types. 4 Yl OtSU S Ve mls s (N6
(B) Explain Male Reproductive System of Rabbit with label diagram. § -V[/&u;gf(‘” ifb,;z./ )LJ)’}'/ chd”'/ (&)
7.(A) Describe the stages of Nitrogen Cycle. 4 -ELSrE s (N7
(B) Explain the basic steps of Genetic Engineering. 5 oSS sl £ G (L)
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PAPER CODE 2019 (A) s

NUMBER: 3462 SSC PART-ll (10th CLASS)

BIOLOGY (NEW SCHEME) GROUP-Il  (2015-2017 o™ ) 1 = oo/ (A 2) B4
TIME ALLOWED: 15 Minutes OBJECTIVE g’yw e 16 = =
MAXIMUM MARKS: 12 12= AS

y /Jlﬁ?biﬁ%j&ﬁﬁ?lic/u:_gﬂ u;?bé{.:&bﬁdfrjz{qu ..u_!éé,: DsCB:A :;&li.:«ﬁkédb'ﬁ -2
4241 Ko A L Si Sl St M i o SE S S | LS eh pstmkica k] <5
Note: you have four choices for each objective type question as A, B, C and D. The choice .q).’;d’f,;.-,mr
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) blood vessels surrounds the Alveoli. 2Ry Pk ,/Léug >l (1)

(A) Artery $4T (B) Arteriol Jy AT (C) Capillaries z/.‘-f D) Vein ¢/s
(2) The weight of human kidney is nearly ____ grams. @ _g,rn(!f . Q );u},bfg,:f JUF (2)
(A) 110 (B) 115 (C) 12&%@0 (D) 127
(3) The largest part of Human brain is:- @ -q_/l'/.:;.h/K f,t:[.ulﬁf (3)
(A) Forebrain c[/./} (B) Midbrain c[/.,:@ ) Hindbrain /<% (D) Medulla U4~
¢ ShLiSIg (@)
a5 (C) Stomach (foi» (D) Brain § ¢t

(4) Osteoporosis is a disease of:-

(A) Bones Uz B
e lng @2 ()

(B) Axons #1E (C) Nodes of Ranvier %s/4J374¢ (D) Schwann Cell J<ul¥

(5) The myelin sheath is fo

(A) Dendrites L%}

(6) The scar present on Seed Coat s called:- etz idl  (6)
(A) Micropile J1:£1  (B) Integument & ,Sst  (C) Hilum sy (D) Ovule Jyss

(7) Rhizopus reproduce asexually by:- -%J.m;. e ,g‘?;f" ',n_‘uf ud:;&; (7)
(A) Binary fission u"d}"g (B) Budding £%  (C) Spore = . (D) Endosp‘ore s i

(8) The scientist presented the Law of Segregation. - . -y’&cﬁ:—c}.&w; Y (8)
(A) Mendel Ji» (B) Newton ¢/ (C)i:?mark JLU‘ - : (D) De Devi 1583

(9) Theory of Natural Selection was presented by:- - WBL . };K 5 r.;[&u? 9)
(A) Aristotle  #-/1 (B) Lamark LU (C) Darwin '3 (D) Malthus uft

(10) _____is the Abiotic component of Ecosystem. e B 7 @.J.JK("’ £ (10)
(A) Plants < ¢ (B) Animals .Jb (C) Decomposers i//':;(d 3 (D) Water 3&

(11) The complete map of Human genome was published in:- -wéw: P ﬁ«); (724 o (1)
(A) » 2002 (B) + 2004 (C) » 2006 (D) » 2008

(12) Mescaline is obtained from a plant:- -t bc;:gvﬁfdl’tf/r (12)
(A) Datura L; (B) Cannabis oo (C) Morning glory duf_,@t (D) Cactus J‘Q/
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2019 (A) T T A s
SSC PART-ll (10th CLASS)
BIOLOGY (NEW SCHEME) GROUP-Il - (2015-20170% ) 1 _ s/ (€ £ ) By

o .45 hf’,

NOTE: - i /
Write same question number -f.b/)(ﬂ{.,{‘él/ﬁs{ zgu/:’,zalf_‘dmigqmw wibsd
and its part number on answer book, as given in the question paper.

 SECTIONA Jio

?. Attempt any five parts. 10=2x5 -g{{/uywél?lélc.éf -2y
(|) What do you know about Nicotine? ‘u?:..bl/ Uz_;tﬁff (iy
(T) How you will differentiate between Stomata and Lenticels? Ly SZLAS SRk 6'1'"14'” (i)
(i)  Whatis Asthma? Write its treatment, -V[)}fl‘am’w S\l (iii)
(iv)  What is the role of skin in controlling the body temperature? e Y- L/Js/':‘/.:aﬁ/.ynl‘f)‘li? (iv)
(v)  Write down two adaptations in xerophytes to prevent loss of water. -40,,? Y Ly, (/PLJQVC‘I‘;%!_/J (v)
{vi) Differentiate between Stimuli and Response -gf.:j:;u: ‘f'g, 2 JM‘ (vi)
(vi) What role does Medulla oblongat a play? Q et /Y sl (i)
(viii) Write down the symptoms and treatment of Diabetes mellitus. @ _u//fz,wm.,me”' Sy (viii)
3. Attempt any five parts. 10=2x5§ {%ﬁ} L i lingie & 3

0} Write two funtions of Joints. é//‘ wI»LJ’ i (1)

(i)  Write two causes of Osteoporosis. i% {U.,Q,iwd/s.ﬁd!"’ sl (i)

(i)  What is meant by Parthenogenesis? "('.J'/'J’:. J"-‘"x" L (i)
(iv) What are two advantages of Vegetati PE -v, ation? St s Bl "-’k'ur"f oo (iv)

mule of seed? ?QH&{G- 'J)f)&d’gﬂ»_/ép (v)

(v) What does develop from radi

(vi)  What are Nucleosomes ?Vgg«frn:.&' (vi)
(viij  Differentiate between inant allele and Recessive allele. -;‘:.: J)uf..ff!n“—mu:‘i <&h3 (vii)
(vili) Write two main sources of Variations. -40&4 54,.'/.”1.-,1;'5 (viii)
4. Attempt any five parts. 10=2x5 ez linbledS 4 )y
()  Write down any four effects of Deforestation. -40..-,04:93!'[. ( AHH088) Jrle ke (i)
(i) Define the term Predation. Write down its one benefit. -s‘:—:{fu‘foﬁv_ﬁ -g’;(.éf/'"Jc,’ﬁé; (i)

(il What is meant by Biogeochemical cycles? e Bukindy (i)

(iv) Whatis Fermenter? Write down the names of two ways -ét&uﬂ)»&g’-k}' L IRD Se R (i)

of fermentation carried out in fermenters.

- f/ﬁ'ﬂﬂ(j[&j’f-f'ﬁ (v)

SV SAGIEY EaF L )
EfS i

“ 4:6}'1.2..{! e unde  (viil)

(v) Write down any two objectives of Genetic Engineering.
(vij What is meant by Bactericidal and Bacteriostatic antibiotics?
(viii  Define Vaccines.
(viii) Whatis Marijuana(Hashish)? Write its one bad effect.
SECTION-II (.2
18=9x2 -Zrfeurlotmeld &7
4 et ALY Passtdus pp (HN.5
5 LiF el (o
4 LA 1 fSCK (N8
5 Eowe ST B Loy (&)
4
5

NOTE: - Attempt any two questions.
5.(A) Write a note on structure and function of Nephron.
(B) Wirite a detailed note on Paralysis and Epilepsy.

6.(A) Define Cartilage and briefly describe its types.

(B) Explain in detail the cutting in plants.
4“.,‘/!4..; )LJ'uié./b’ JAJ!;‘ (.7

- 43.«" J‘;)/JV (-« )
28-2019(A)-29000 (MULTAN)

7.(A) Describe acid rain with its two bad effects.
(B) Write a detailed note on Single Cell Protein.



BIOLOGY (NEW SCHEME) GROUP-I ( 2015-17,2016-18 o ) 1t - wa/ (€ £) B¢

TIME ALLOWED: 15 Minutes OBJECTIVE 0'3/'.«0 w15 = =

MAXIMUM MARKS: 12 12= AF
fech § SARIIDIL e fp L s\ Q637 -l D 11 C B A NRLp Ly )
VEIR V! -(Lt,pdﬂdf;;auﬂfl_fsi /u:}b _&Jﬂs&,muﬁ(;@nf‘a[é s LSl gl -5

Note: You have four choices for each objective type question as A, B, C and D. The choice -Qﬁd"f/.-:—mr

which you think is corrct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are notfilled. Do notsolve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Optimum temperature for the growth of seed is:- -§.tx.wl/.,qu,/v4.£ﬁf‘f 5 (1)
5-—-38c (B) 35-—40% C)1 5—280 (D) 35-——38%

(2) In human cells the number of homologous chromosomes pairs is:- -4.8n:lﬁ‘fu:}££/rn/ﬂrn¢)k BUI (2)

(A) 26 (B) 25 (©) 24 /‘23
(3) presented the Law of Segregation. / @@ - J:‘cf-‘gf..iw (3)
(A) Lamarck & JAL @Qlatson Lo ey Mende O©
&

|§§
(4)" The R3" means:- @% -6 "TheR3"  (4)

(D) Darwin &1}

(A) Less use db“'!{ (B) Reuse J& 1ol cle tt:aTots (D) Refuse LK1

BSIPT-c N )
ir Alexander Fleming & £ ;@/@Roben Hook &4l

(5) Pencillin was discovered by:-

(A) Lamarck &L (B) Darwin &Ly

(6) The enzyme used to dissolve bl ts'is:- -q_mgy;ﬂ.{_ﬁz_:ifu, ALz (6)
(A) Thymosin @ @Lipase du (C) Insulin 2+t ((07 ’Urokinase P,

(7) In humans, the gaseous exchange occurs, in:- / .q.t’nJ:Q?b’uﬁr‘;uUl (7)
(A) Pharynx AU2  (B) Trachea £ @anchi BNy JD)/AIveoli Sdugk

(8) The name of tube between kidney,and urinary bladder is the:- -4&(&:@%:&4&6 ;.—.4/:!4..:/ (8)
'L(Kﬁeter y rethra sy (C) Renal tubule Jxz2 % (D) Nephron s ¥

(9) Insulin and glucagon are produced in the:- gl A (9)

(A) Hypothalamus s gus JagiseSla (B) Anterior pituitary 22 2 (C) Liver uf/’.: ancreas &)L_z@

(10) The smallest bone of the human body is:- -q.d);é:{;..,/d’()ﬁud! (10)
(A) Incus Jc; ' &walleus u’-” ) Stapes Jé"’ (D) Cochlea .\)'b’

(11) Maturg‘Bone cells are called:- _SLWEELSE (1)
&) Osteocytes u"’,lr};:’)f @ Cartilage gal3 IS (C) Fibrous cartilage gl IS puyssls (D) Spongy bone w.(f::r

(12) Ovary js ripened into:- it ij_i/..{ Sss (12)
dSeed & (B) Flower J% (€YFruit S (D) Sweetness &

e TR 26(0bi)( T IEI)-2018(A)41000 (MULTAN)
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BIOLOGY (NEW SCHEME) GROUP-I ( 2015-17,2016-18 ™ ) by - s/ (/£ £) o€\

TIME ALLOWED: 1.45 Hours SUBJECTIVE _S@¥l» 245 =
MAXIMUM MARKS: 48 | 48 = A4S

NOTE: - Write same question number .q.b;:gﬂ;.{élr.&g’.g (y/;/f;z/:lf.‘.'dlm}g(éb’dm -

and its part number on answer book, as given in the question paper.
SECTION- il

2. Attempt any five parts. 10=2x5 .é,/’uwémége—.éf 250w
(i) Differentiate between Stomata and Lenticels. e.‘fuw/«ﬁ)’ 6'3'!'?:"" 0)
(i)  What are Pleural membranes? Write their function. -g{_//’d” e SV A (ii)
(i)  What is meant by Thermoregulation? ?c‘_:l/gc,uy:{//} iii)
(iv)  Write two Osmotic adjustments in Xerophytes. -g{{fpti‘lbf.ffl:nﬁu';‘f BsgJ (iv)
(v)  Write the symptoms of renal stones. -éd.:,w:nf d/:ut‘.:/ (v)
(vij  Differentiate between Central and Peripheral nervous system. -_éu_l_f.u')‘ﬁ(“" Ui (vi)
(vii) Differentiate between Sympathetic system and Parasympathethic system. - g bJ/"ﬂ("' G T 5 (vii)
(vii)  What is meant by Goitre? S e A (i)
3. Attempt any five parts. 10=2x5 -g{(iuuiﬁl}’lﬂc.af 2340
(i) Describe the structure and functions of tendons. -éuudwm.dw P (i)

(i)  Whatis the difference between Flexion and Extension movements? Q SIS TS bﬁ.f/u’g (i)
oSt S fSuad i

(i)  Define Stem Tubers and write two examples.

(ivy  How does vegetative propagation by leaf take place? Give ag Ouj,dt';o e dn u’-‘-%{;fuf",{_/iﬁé; (v)
(v)  Explain external fertilization with an example. @ J/T l:iv&dt‘/fw"ﬁ-iuf)J;{ (V)
(vi)  Why did Mendel use pea plant in his experiments? WLty Epfoc feti iy (Vi)

(vii)  What do you mean by Phenotype and Genotyp @ V4 "c'_-)l/l;(-,«"c--,f’ e (vii)
(viii) What are breeds and Cultivars? S‘u'lful, »ikz (Vi)

4. Attempt any five parts. 10=2x5 -g‘,‘:(/u&liﬁlﬂ&gc.éf -4
()  Define Food Chain and also gi LSSt s S A3 (i)
(i) Write two disadvantages of ain. S fe Sl JAYE (i)
(i)  Define Biotechnology. ~EwSSENL (i)

(v)  How did Genetic Engineering help in controlling Haemophilia  SsalUt i AU 27 Lty £ ﬁ.@f (iv)
and Thalassemia?

(v) Describe the importance of Single cell Protein. _égugcg.‘”(fcﬁ.:{df& (v)

(vi) Describe two precautionary measures before using Medicines. -g;.fug ,;IIJ‘LG?»‘K,G L/JWI/.:&»! (vi)

(vii)  Write down the names of two kinds of Antibiotics. -.;_i} /}té(\ﬁi»«fu—@,’ W (vii)

(viii)  From which sources drugs are obtained? U dlgd’J‘ kv:—&»'c.db)'d( (viii)
SECTION-II o2

NOTE: - Attempt any two questions. -é{ia&b’fﬁ:«mn:a.df -7

5.(A) 'Define Homeostasis and explain it with the help of 5 -g{uu:JJlau)&RJ,lé.ngu’*k wn (N5

some examples.
(B) Write the names of different components of Coordination 4 -q/yu,Ju.’mu:“?térm_ﬂLJ’ LY (L)
process and explain any three.
6.(A) Describe the types of Joints. 5 -g{ug(u'!gff iz ()6
(B) Explain Binary fission with examples. 4 -;{a&u:;uib‘»gfu’; BA (&)
7.(A) What are Consumers? Write different groups of Consumers. 5 -Jf{fe':/ﬁéifg'/"/ ?q_té'..ng()/zf (-7
(B) Write the types of Fermentation? How do they take place? 4 -uf@:.“r ?;.QCK.?_ el ..u..‘f'u"lJu’-‘g“//‘ ((8)
Explain.

MIN-1?=-l @ 26-2018(A)-41000 (MULTAN)



'--'---——---v g Sy I

BIOLOGY (NEW SCHEME) GROUP-II( 2015-17,2016-18 % ) s - .,,/ ( (:." £) BAE\

TIME ALLOWED: 15 Minutes OBJECTIVE (%2 e 15 =
MAXIMUM MARKS: 12 12= AF

aof | LA AL e o UL E s\l Sy Q8312 <L D 4 C B A N2l LJirg -2d 2
{34dr -VLQL:J/:}J/J@JA{L/ZZ Jf):}b -fmﬁ%&uﬁgﬂwﬁfw oK k U%)jlm&)a..{l ok

Note: You have four choices for each objective type question as A, B, C and D. The choice -Q[:J")}:.mr

which you think is corrct, fill that bubble in front of that question number. On bubble sheet, use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Tobacco smoke contains over chemicals:- -g.amtﬂJ)?f‘ﬂq_{hﬁf (% 1)
(M50 ,6934/00 (C) 4000 (D) 500

(2) The functional unit of the kidneys is called:- dwlndwide.” @
(A) Neuron . (B) Ribosome rnfél/ jﬁ)’ﬁé;hron 01y 4 (D) Ureter .4

(3) Body synthesis rhodopsin from vitamin:- -.;_r//g'm,ﬁuc—..‘f e:u’-()' (3)

@A) K /(Bri' )Fﬁ) @Q@ D) A B

(4) Eyes of dogs and cats shine due to thg layer:- . é\o -@ﬁag&.ﬁﬁuf TSuskmZ @)
(©) Ta@%}&’

(A) Tampenak ..%) Tapetum /% (D) Pleural J.g%
(5) End of muscles attached with moveable bone is call bl < bt 2 A LS ASP R K (5)
" (A) Origin ol (®) Flexor Mﬁbn A (D) Extensor A/~

et USRSy (6)
a a % — &
uction " 35z, (C) Fertilization =71/ _AB) Pollination ¢/~d¢

(6) Transfer of pollen grains to stigma is

(A) Germination «*Z (B

(7) Amature ovule is called:- -+rup(J¢,,u:z,g (7)
Wrﬁi't’dé (B) Tuber .+ (€) Seed & (D) Bulb

(8) ______ flower is not found in Four O clock plant. -r@gguﬁf;(_,g.f W -sl-s 3 )A¥ (8)
}{Pink colour £/} (B) Red colour £{,»  (C) White colour £/~ (D) Blue colour /1

(9) The number of hydrogen bonds between Cytosine and Guanine is:- -« Gx:'ﬂ&,‘cgcﬁuﬁfyuymﬁ‘yf I;Cﬂu.‘.’ J‘GV 9

§ Three & (B) Two (C) Four J (D) One i |
(10) The study of the interrelationship between organisms and their -q:.t'ﬂz&'b/(.:«Wc)k/x':ditﬁululu,ulﬂg (10)
environment is called:-

(A) Cytology Ss/#L (B) Genetics ‘f@ (C) Sociology Ss\2v (B E/c;ology Gkl

(11) The complete map of Human Genome Project was published in:- WV (fl?.‘)"&; Kol (1)
(A) 1978 (B) 1970 (C) 1944 /(97 2002

(12) Morphingisﬁepared from:- .q_t'@l:Cp'fd-éA (12)
(A Opium G (B) Fungi J¢/ (C) Bacteria | 25 (D) Foxglove 6

M*TN) 2a « ) C 28(Obj)( ¥¥)-2018(A)-28000 (MULTAN)
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TIME ALLOWED: 1.45 Hours SUBJECTIVE ¥l =
MAXIMUM MARKS: 48 48 = A

NOTE: - Write same question number .q..&»d;_.‘.glr.fz;{ Z‘/J)/.‘?’ZJ)'/::U'/L?){QKQM s

and its part number on answer book, as given in the question paper.
SECTION-l Jileo

2. Attempt any five parts. 10=2x5 .é;i.:.uzf_wégc.éf ..2/.2dir
(i) What is the difference between daytime respiration and respiration at night? &;.J)y(ﬁcﬂ ,(-/J:Aw'u: i

(i) Write the symptoms of Amphysema. -u.‘{;«twu( l«f&'

(i) What is meant by Homeostasis? Give an example. et St Ve o

(iv)  Write the parts of Excretory System of man. -u..‘f*t&u:"é(‘" u’ﬁ./cgﬁéuu'l

(v}  Whatis Lithotripsy? vq.y’u#;if

(vij  Write components of Coordination action. -u'.’"rrtéiméf LA

(vii)  Write two main functions of Spinal Cord. -u.‘"(((? '»Lbﬁ)f L

(viii) Why Dwarfism is caused? Setwe S otd (Vi)
3. Attempt any five parts. 10=2x5 -g‘.{{/’.pymélz'égc.éf -3/.&)':'
(i) Differentiate between Chondrocytes and Osteocytes. -g‘:—: ugd/'u-f gf.",l/x."ﬁ‘ulgf"’w/ﬁb{ iy
(i)  Whatis meant by Ligaments? ‘.‘9;1/{[4.‘)} 0 (i
(iiiy Write the importance of Reproduction. = 40.:,:“‘,(??,4./ iy~
(v)  What is Endosperm Tissue? @@ ?4.1[,‘5(4;.‘@ (iv)
(v} Whatis the importance of Seed Dormancy? @ i (17 Y2 )
(vi) What is meant by Alleles? A %ﬁ\o te il Y )’t (vir
(viiy Differentiate between Phenotype and Genotype. @% h - ULOAL ..,.:’ bkt (VT
(viiiy Write two sources of Variations. -éz;d'ﬁv&d;ﬁ (viffy.

4. Attempt any five parts. @ﬁ; 2x5 -6'-{{/;:4'.2&!2!5558/ Wy e
b .

()  Whatis meant by Pyramid of Biomass? fe sl e ULELS T (i)

(i)  What is meant by Producers? Wha ppen if Producers *§xy)” ;d:’lgﬂf}/!f{c-(y L5 Sl ity Y
in an Ecosystem ends?

(i)  Write down the use of Urokinase Enzyme. From which type e\ e AL e P
of microorganisms it has been produced?

(iv) Whatis the use of Fermentation in dairy products? e Y16, d’%&ﬂﬂ‘{d{f 18

(v)  Whatis meant by Single Cell Protein? tee iy

(vi)  Write down the names of four diseases in which Vaccine is used? ¢ dﬂd&fu.fgg.ﬁ‘fuﬁt‘?uppy O

(vii)  Which drugs are obtained from animals? Give examples. ; -J_;u.'-'r"/ sl bogulu"fc_uuilg (Y

(viii) What is meant by Social Stigma? ) ?g,)yt_/‘;,u@g}’r (waT)
SECTION-II ¢

NOTE: - Attempt any two questions. -;{‘(/’guzégmmc,éf -d

5.(A) Whatis meant by Kidney Stones? Give the 5 2 szt 2SS A SunS fq_,t/g:.d/’t‘;cr,f (W5
causes,symptoms and treatment of kidney stones.

(B) Write a note on Peripheral Nervous System. 4 -Q/;f;i«“" w)d/".;@ (.;)/
6.(A) What is the difference between Cartilage and bone? Describe the kinds of Cartilage.s-q)}/'ﬁb"'lg(uxulc‘;’jb’ (6
(B) What s the role of Non-Government Organizations in 4 te /YN WIS AL SIS ()

National Aids Control Programme.
7.(A) Define Air Pollution and describe its effects. 5 e DSBS TS (YT
(B) Describe the importance of Biotechnology in the field 4 - et SE LA RS L P\ s &1

of Medicine and Environment.
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